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All Questions

1. Find the maximum distance between two

points on the perimeter of a rectangular


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_buPvkl6lSuxe

garden whose length and breadth are 100 m

and 50 m.

° Watch Video Solution

2. One side of a rectangular field is 15 m and

one of its diagonals is 17 m. Find the area of

the field.

° Watch Video Solution



https://dl.doubtnut.com/l/_buPvkl6lSuxe
https://dl.doubtnut.com/l/_MyqgJTLIPoSR

3. A lawn is in the form of a rectangle having

its sides in the ratio 2:3. The area of the lawn
1

Is 3 hectares. Find the length and breadth of

the lawn.

° Watch Video Solution

4. Find the cost of carpeting a room 13 m long
and 9 m broad with a carpet 75 cm wide at the

rate of Rs 12.40 per square metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_ft7WrElaCVOP
https://dl.doubtnut.com/l/_FmUagFu1pO16

5. The length of a rectangle is twice its
breadth. If its length is decreased by 5 cm and
breadth is increased by 5 cm, the area of the
rectangle is increased by 75 sq. cm. Find the

length of the rectangle.

o Watch Video Solution

6. A rectangular carpet has area 120m?* and
perimeter 46 metres. The length of its

diagonals is 15m (b) 16m (c) 177m (d) 20m


https://dl.doubtnut.com/l/_FmUagFu1pO16
https://dl.doubtnut.com/l/_6v7Iq8DZtrTg
https://dl.doubtnut.com/l/_kUD4kd3JXv0y

° Watch Video Solution

7. The length of a rectangle is increased by
30%. By what percent would the breadth have

to be decreased to maintain the same area?

° Watch Video Solution

8.In measuring the sides of a rectangular plot,

one side is taken 5% in excess and the other


https://dl.doubtnut.com/l/_kUD4kd3JXv0y
https://dl.doubtnut.com/l/_SBbwdpnXrcdA
https://dl.doubtnut.com/l/_ettdl0P94oIx

6% in deficit. Find the error percent in area

calculated, of the plot.

° Watch Video Solution

9. Instead of walking along two adjacent sides
of a rectangular field, a boy took a short cut
along the diagonal and saved the distance
equal to half of the longer side. Then the ratio

of the shorter side to the longer side is

° Watch Video Solution



https://dl.doubtnut.com/l/_ettdl0P94oIx
https://dl.doubtnut.com/l/_Atwonq4jcxkV
https://dl.doubtnut.com/l/_dvJosH1CzplK

10. Two perpendicular cross roads of equal
within run through the middle of a
rectangular field of length 80 m and breadth
60 m. If the area of the cross roads is 675 m? ,

find the width of the roads.

o Watch Video Solution

11. Arectangular grassy plot 110 m by 65 m has
a gravel path 2.5 m wide all around it on the
inside. Find the cost of gravelling the path at

80 paise per sq. metre.


https://dl.doubtnut.com/l/_dvJosH1CzplK
https://dl.doubtnut.com/l/_CWsmY17f3o4N

° Watch Video Solution

12. The diagonal of a rectangular field is 15 m
and its area is 108 sq. m. What will be the total
expenditure in fencing the field at the rate of

Rs 5 per metre?

o Watch Video Solution

13. The perimeters of two squares are 40 cm

and 32 cm, Find the perimeter ofthe third


https://dl.doubtnut.com/l/_CWsmY17f3o4N
https://dl.doubtnut.com/l/_ky0QTxaIP2MY
https://dl.doubtnut.com/l/_vdEQultTB4IQ

square whose area is equal to the difference

of the areas of the two squares.

° Watch Video Solution

14. The length of a rectangle R is 10% more
than the side of a square S . The width of the
rectangle R is 10% less than the side of the
square S . What is the ratio of the area of R to

that of S'?

° Watch Video Solution



https://dl.doubtnut.com/l/_vdEQultTB4IQ
https://dl.doubtnut.com/l/_SIsMTAvM3WU1
https://dl.doubtnut.com/l/_GpKODBjOTJ7t

15. Find the largest size of a bamboo that can

be placed in a square of area 100 sq. m.

o Watch Video Solution

16. A rectangular courtyard, 3.78 m long and
525 m broad, is to be paved exactly with
square tiles, all of the same size. Find the least

number of square tiles covered.

° Watch Video Solution



https://dl.doubtnut.com/l/_GpKODBjOTJ7t
https://dl.doubtnut.com/l/_2jktd85iaQp0
https://dl.doubtnut.com/l/_3gC2szDElP3H

17. Find the area of a square, one of whose

diagonals is 3.8 m long.

o Watch Video Solution

18. The diagonals of two squares are in the

ratio of 2 : 5. Find the ratio of their areas.

° Watch Video Solution

19. On increasing each side of a square by 25%,

the increase in area will be


https://dl.doubtnut.com/l/_3gC2szDElP3H
https://dl.doubtnut.com/l/_DfPRmBtegjqT
https://dl.doubtnut.com/l/_BfZ1GCX4RDfd

25% (b) 55%

55.5% (d) 56.25%

° Watch Video Solution

20. If the diagonal of a square is decreased by

15%, find the percentage decrease in its area.

o Watch Video Solution

21. A square park is surrounded by a path of

uniform width 2 metres all around it. The area


https://dl.doubtnut.com/l/_BfZ1GCX4RDfd
https://dl.doubtnut.com/l/_brPyRxH7fQyW
https://dl.doubtnut.com/l/_CraRvWFdNfV7

of the path is 288 sqg. metres. Find the

perimeter of the park.

° Watch Video Solution

22.If the side of a square is increased by 8 cm,
its area increases by 120 sq. cm. Find the side

of the square.

° Watch Video Solution



https://dl.doubtnut.com/l/_CraRvWFdNfV7
https://dl.doubtnut.com/l/_ZXJSpC8Yn3Sx

23. If the length of a certain rectangle is
decreased by 4 cm and the width is increased
by 3 cm, a square with the same area as the
original rectangle would result. Find the

perimeter of the original rectangle.

o Watch Video Solution

24. The dimensions of a room are 12.5 m by 9m
by 7m. There are 2 doors and 4 windows in the

room; each door measures 2.5 m by 1.2 m and


https://dl.doubtnut.com/l/_UskjS2rGyB1x
https://dl.doubtnut.com/l/_HjgZXD4NvcJk

each window 1.5m by 1 m. Find the cost of

painting the walls at Rs. 3.50 per square metre.

° Watch Video Solution

25. A room is half as long again as it is broad.
The cost of carpeting the room at Rs 5 per sq.
m is Rs 270 and the cost of papering the four
walls at Rs 10 per m? is Rs 1720. If a door and 2
windows occupy 8 sq. m, find the dimensions

of the room.

° Watch Video Solution



https://dl.doubtnut.com/l/_HjgZXD4NvcJk
https://dl.doubtnut.com/l/_nMVRKwUC3ixF

26. The cost of fencing an equilateral
triangular park and a square park is the same.
If the area of the triangular park is 16,/3 m? ,
find the length of the diagonal of the diagonal

of the square park.

o Watch Video Solution

27. The altitude drawn to the base of an
isosceles triangle is 8 cm and the perimeter is

32 cm. Find the area of the triangle.


https://dl.doubtnut.com/l/_nMVRKwUC3ixF
https://dl.doubtnut.com/l/_77H1WNvm8HMY
https://dl.doubtnut.com/l/_PTqb5ZYyri1k

° Watch Video Solution

28. Find the length of the altitude of an

equilateral triangle of side 3,/3 cm .

o Watch Video Solution

29. The base and altitude of a right angled
triangle are 12 cm and 5 cm respectively. Find
the perpendicular distance of its hypotenuse

from the opposite vertex.

| e |


https://dl.doubtnut.com/l/_PTqb5ZYyri1k
https://dl.doubtnut.com/l/_2yD4e1P4I3QI
https://dl.doubtnut.com/l/_MlYPOCuJw8ja

& Wwatch Video Solution I

30. In two triangles, the ratio of the areas is 4 :
3 and the ratio of their heights is 3 : 4. Find

the ratio of their bases.

° Watch Video Solution

31. If the height of a triangle is increased by
30% and its base is decreased by 20%, what

will be the effect on its area?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_MlYPOCuJw8ja
https://dl.doubtnut.com/l/_neD9BR19Wv29
https://dl.doubtnut.com/l/_9sarj4AcOq2v

32. The base of a parallelogram is twice its
height. If the area of the parallelogram is 72

sqg. cm, find its height.

° Watch Video Solution

33. Find the area of a rhombus, each side of
which measures 20 cm and one of whose

diagonals is 24 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_9sarj4AcOq2v
https://dl.doubtnut.com/l/_NoAKDH3JD1jg
https://dl.doubtnut.com/l/_UMiTiVIw7Gy8

34. The length of one side of a rhombus is 6.5
cm and its altitude is 10 cm. If the length of
one of its diagonals is 26 cm, find the length of

the other diagonal.

o Watch Video Solution

35. The difference between two parallel sides
of a trapezium is 4 cm. The perpendicular

distance between them is 19 cm. If the area of


https://dl.doubtnut.com/l/_UMiTiVIw7Gy8
https://dl.doubtnut.com/l/_vcFLU0rfE4kP
https://dl.doubtnut.com/l/_8yLmohrhJVNw

the trapezium is 475 cm? , find the lengths of

the parallel sides.

° Watch Video Solution

36. Find the length of a rope by which a cow
must be tethered in order that it may be able

to graze an area of 9856 sq. metres.

° Watch Video Solution



https://dl.doubtnut.com/l/_8yLmohrhJVNw
https://dl.doubtnut.com/l/_2OSZ36taU25m

37.The area of a circular field is 13.86 hectares.
Find the cost of fencing it at the rate of Rs

4.40 per metre.

o Watch Video Solution

38. The circumferences of two circles are in the

ratio 2: 3. Find the ratio of their areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_tJ4yxKSIhP9g
https://dl.doubtnut.com/l/_yoAIbpbk9IY9

39. If a wire of 440 metres length is moulded
in the form of a circle and a square turn by
turn, find the ratio of the area of the circle to

that of the square.

o Watch Video Solution

40. A circular wire of diameter 42 cm is bent in
the form of a rectangle whose sides are in the

ratio 6 : 5. Find the area of the rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_Eyh62F62Vxog
https://dl.doubtnut.com/l/_B4ZmFDehoIC4

41. The diameter of the driving wheel of a bus
is 140cm. How many revolutions per minute
must the wheel make in order to keep a speed

of 66km per hour?

o Watch Video Solution

42. A wheel makes 1000 revolutions in
covering a distance of 88 km. Find the radius

of the wheel.

o Watch Video Solution



https://dl.doubtnut.com/l/_B4ZmFDehoIC4
https://dl.doubtnut.com/l/_inPTgLiLSaQf
https://dl.doubtnut.com/l/_ei38xcg64Yy7

43. A circular grassy plot of land 42m in
diameter has a path 3.5m wide running round
it on the outside. Find the cost of gravelling

the path at Rs 4 per square metre.

o Watch Video Solution

44. The inner circumference of a circular race
track, 14 m wide, is 440 m. Find the radius of

the outer circle.

| = |


https://dl.doubtnut.com/l/_ei38xcg64Yy7
https://dl.doubtnut.com/l/_G31KCV1pRzRL
https://dl.doubtnut.com/l/_SACjz1FgwzGe

I &9 Watch Video Solution I

45. Two concentric circles form a ring. The

inner and outer circumferences of the ring are

2 3
507m and 757m respectively. Find the width

of the ring.

o Watch Video Solution

46. If the cost of gardening is Rs 85 per square

metre then what will be the cost of gardening


https://dl.doubtnut.com/l/_SACjz1FgwzGe
https://dl.doubtnut.com/l/_uNCdv3gbSUT6
https://dl.doubtnut.com/l/_FMbeCgNfV7k3

1.4 metre wide strip inside around a circular

field having an area of 1386 square metres?

° Watch Video Solution

47. The radii of three concentric circles are in

the ratio 1:2:3. Find the ratio of the area

between the two inner circles to that between

the two outer circles.

o Watch Video Solution



https://dl.doubtnut.com/l/_FMbeCgNfV7k3
https://dl.doubtnut.com/l/_D9J4oBzGjLQ2

48. In a circle of radius 35 cm, an arc subtends
an angle of 720 at the centre. Find the length

of the arc and area of the sector.

o Watch Video Solution

49. The minute hand of a watch is 1.5 cm long.

How far does its tip move in 40 minutes? (Use

T =3.14).

o Watch Video Solution



https://dl.doubtnut.com/l/_HCuzhjNGlo9v
https://dl.doubtnut.com/l/_b1jV6DOdkolM
https://dl.doubtnut.com/l/_zllJxqAXdMrN

50. A sector of 120°, cut out from a circle, has

an area of 97 sq cm. Find the radius of the

circle.

o Watch Video Solution

51. Find the area of the largest circle that can
be drawn inside a rectangle with sides 7 m by

6 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_zllJxqAXdMrN
https://dl.doubtnut.com/l/_hecX0jdyetgQ
https://dl.doubtnut.com/l/_r67hW3UV2h8h

52. Find the ratio of the areas of the incircle

and circumcircle of a square.

o Watch Video Solution

53. Four horses are tied on the four corners of
a square field of length 14 m so that each
horse can just touch the other two horses.
They were able to graze in the area accessible
to them for 11 days. For how many days is the

ungrazed area sufficient for them?

o Watch Video Solution



https://dl.doubtnut.com/l/_r67hW3UV2h8h
https://dl.doubtnut.com/l/_jklXtak9kGHn

54. If the radius of a circle is decreased by

50%, find the percentage decrease in its area.

° Watch Video Solution

55. If the radius of a circle is increased by 20%

then by how much will its area be increased?

o Watch Video Solution



https://dl.doubtnut.com/l/_jklXtak9kGHn
https://dl.doubtnut.com/l/_ntJsFyeJXHmB
https://dl.doubtnut.com/l/_5XdoI2iy1Xay

56. The radius of a circle is so increased that
its circumference increased by 5%. Find the

percentage increase in its area.

o Watch Video Solution

57. The area of a circle whose radius is 6 cm, is
trisected by two concentric circles. Find the

radius of the smallest circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_CVCN2BveY1CQ
https://dl.doubtnut.com/l/_m74l24r5MLsK
https://dl.doubtnut.com/l/_MODXdDepTUXn

58. If a rectangle has length L and the width is

one-half of the length, then the area of the

. 9 1, 1,
rectangle is (a) L (b) L* (c) EL (d) ZL (e)

2L

o Watch Video Solution

59. The length of a room is 5.5 m and width is
3.75 m. Find the cost of paving the floor by
slabs at the rate of Rs 800 per sq. metre. (a) Rs
15,000 (b) Rs 15,550 (c) Rs 15,600 (d) Rs

16,500


https://dl.doubtnut.com/l/_MODXdDepTUXn
https://dl.doubtnut.com/l/_nCKO0u9kMa9X

° Watch Video Solution

60. The area of a rectangular field is 2100 sq.
metres. If the field is 60 metres long, what is
its perimeter? (a) 180 m (b) 210 m (c)
240 m (d) Cannot be determined (e) None

of these

° Watch Video Solution



https://dl.doubtnut.com/l/_nCKO0u9kMa9X
https://dl.doubtnut.com/l/_M83j1RmWOIe7

61. The length of a rectangle is 18 cm and its
breadth is 10 cm. When the length is increased
to 25 cm, what will be the breadth of the
rectangle if the area remains the same? (a) 7

cm (b)7Z1cm  (c) 7.2 cm (d) 7.3 cm

o Watch Video Solution

62. Arectangular plot measuring 90 metres by
50 metres is to be enclosed by wire fencing. If

the poles of the fence are kept 5 metres apart,


https://dl.doubtnut.com/l/_jj0lkfNdGszX
https://dl.doubtnut.com/l/_eogjKbQ14bLt

how many poles will be needed? (a) 55 (b)

56 (c) 57 (d) 58

° Watch Video Solution

63. The length of a rectangular plot is 60%
more than its breadth. If the difference
between the length and the breadth of that
rectangle is 24 cm, what is the area of that
rectangle? (a) 2400 sq. cm (b) 2480 sqg. cm

(c) 2560 sqg. cm (d) Data inadequate (e)

None of these

| e |


https://dl.doubtnut.com/l/_eogjKbQ14bLt
https://dl.doubtnut.com/l/_bE5YFMf7Sz51

& Wwatch Video Solution I

64. A rectangular parking space is marked out
by painting three of its sides. If the length of
the unpainted side is 9 feet, and the sum of
the lengths of the painted sides is 37 feet,
then what is the area of the parking space in
square feet? (a) 46 (b) 81 (c) 126

(d) 252

° Watch Video Solution



https://dl.doubtnut.com/l/_bE5YFMf7Sz51
https://dl.doubtnut.com/l/_6HVj4HVhGbr0

65. The difference between the length and
breadth of a rectangle is 23 m. If its perimeter
is 206 m, then its area is (a) 1520 m? (b)

2420 m? (c) 2480 m? (d) 2520 m?

o Watch Video Solution

66. The total cost of flooring a room at Rs 8.50
per square metre is Rs 510. If the length of the

room is 8 metre, then its breadth is:

o Watch Video Solution



https://dl.doubtnut.com/l/_RtPRJij1afe2
https://dl.doubtnut.com/l/_LESLXPZy0KJz

67. The length of a rectangular plot is thrice its
breadth. If the area of the rectangular plot is
7803 sq. metres, What is the breadth of the
rectangular plot? (a) 51m (b) 88m (c)

104m (d) 153m (e) None of these

o Watch Video Solution

68. The perimeter of a rectangle is 60 metres.

If its length is twice its breadth, then its area


https://dl.doubtnut.com/l/_LESLXPZy0KJz
https://dl.doubtnut.com/l/_JiCBj3gjN4pN
https://dl.doubtnut.com/l/_P4aG8e8mzsHk

is(a) 160 m2 (b)) 180 m2 (c) 200 m2 (d)

220 m2

° Watch Video Solution

69. A man is walking in a rectangular field
whose perimeter is 6 km. If the area of the
rectangular field be 2 sq. km, then what is the
difference between the length and breadth of
the rectangle? (a) % km (b) 1km (c) 1% km

(d) 2km

° Watch Video Solution



https://dl.doubtnut.com/l/_P4aG8e8mzsHk
https://dl.doubtnut.com/l/_IvSZsGXzreIu

70. The area of a rectangle is 252 cm2 and its
length and breadth are in the ratio of 9:7
respectively. What is its perimeter? (a) 64

cm (b) 68 cm (c)96cm  (d) 128 cm

o Watch Video Solution

71. The length of a rectangular plot is 20
metres more than its breadth. If the cost of
fencing the plot @ Rs 26.50 per metre is Rs

5300, what is the length of the plot in metres?


https://dl.doubtnut.com/l/_IvSZsGXzreIu
https://dl.doubtnut.com/l/_MvEJsz7Q9JtP
https://dl.doubtnut.com/l/_tNfuohngoOmV

(a) 40 (b) 50 (c) 120 (d) Data

inadequate (e) None of these

° Watch Video Solution

72. A carpenter is designing a table. The table
will be in the form of a rectangle whose length
is 4 feet more than its width. How long should
the table be if the carpenter wants the area of
the table to be 45 sq ft? (a) 6 ft (b) 9 ft

(oMft (d)13ft

° Watch Video Solution



https://dl.doubtnut.com/l/_tNfuohngoOmV
https://dl.doubtnut.com/l/_UudkNz8js10z

73. The perimeter of a rectangular field is 480
metres and the ratio between the length and
the breadth is 5:3. The area is (a) 1350 sq. m

(b) 1550 sq.m (c) 13500 sgq. m (d) 15500 sq. m

o Watch Video Solution

74. A rectangular farm has to be fenced on
one long side, one short side and the
diagonal. If the cost of fencing is Rs 100 per m,

the area of the farm is 1200 m2 and the short


https://dl.doubtnut.com/l/_UudkNz8js10z
https://dl.doubtnut.com/l/_WeMiy7usVZ49
https://dl.doubtnut.com/l/_QFgAUfZAalm3

side is 30 m long, how much would the job
cost? (a) Rs 7000 (b) Rs 12000 (c) Rs

14000 (d) Rs 15000

° Watch Video Solution

75.The breadth of a rectangular field is 60% of
its length. If the perimeter of the field is 800
m, what is the area of the field? (a) 18750 sq.
m (b) 37500 sq. m (c) 40000 sq. m (d) 48000

Sg. m

° Watch Video Solution



https://dl.doubtnut.com/l/_QFgAUfZAalm3
https://dl.doubtnut.com/l/_hHALK16qliwQ

76. If the ratio between the length and
perimeter of a rectangular plot is 1:3, then the

ratio between the length and breadth of the

o Watch Video Solution

77. The ratio between the length and the
breadth of a rectangular park is 3:2. If a man
cycling along the boundary of the park at the

speed of 12 km/hr completes one round in 8


https://dl.doubtnut.com/l/_hHALK16qliwQ
https://dl.doubtnut.com/l/_wcswgzmhCWLa
https://dl.doubtnut.com/l/_XE9Lb81K1Zv9

minutes, then the area of the park (in sq. m) is
(@) 15360sg. m (b) 153600sq. m (c) 30720sq.

m (d) 307200sg. m

o Watch Video Solution

78. The area of a rectangle is 460 square
metres. If the length is 15% more than the

breadth, what is the breadth of the

rectangular field? (a) 15 metres (b) 26
metres (c) 34.5 metres (d) Cannot be
determined (e) None of these

| e |


https://dl.doubtnut.com/l/_XE9Lb81K1Zv9
https://dl.doubtnut.com/l/_3DGdn45Q983I

& Wwatch Video Solution I

79.The area of a rectangular field is 52000 m2.
This rectangular area has been drawn on a
map to the scale 1 cm to 100 m. The length is
shown as 3.25 cm on the map. The breadth of
the rectangular field is (a) 150m (b) 160m

(c) 200.5m (d) 300.5m

° Watch Video Solution



https://dl.doubtnut.com/l/_3DGdn45Q983I
https://dl.doubtnut.com/l/_7AopsOXiZh1o

80. A rectangular field is to be fenced on three
sides leaving a side of 20 feet uncovered. If the
area of the field is 680 sq. feet,how many of

fencing will be required?

o Watch Video Solution

8. A farmer wishes to grow a 100m?
rectangular vegetable garden. Since he has
with the only 30 m barbed wire, the fences

three sides of the rectangular garden letting


https://dl.doubtnut.com/l/_xBiKWHOyLK0B
https://dl.doubtnut.com/l/_soXkIpsIy7vL

compound wall of his house act as the fourth

side-fence. Find the dimensions of his garden.

° Watch Video Solution

82. The ratio of length and breadth of a
rectangle is 3:2 respectively. The respective
ratio of its perimeter and area is 5:9. What is
the breadth of the rectangle in metres? (a)
6m (b) 8m (c) 9m (d) 13m (e)

None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_soXkIpsIy7vL
https://dl.doubtnut.com/l/_C0wGq6uBgzxC

8. A rectangle of certain dimensions is
chopped off from one corner of a larger
rectangle as shown. AB = 8cm and
BC = 4cm . The perimeter of the figure
ABCPQRA (in cm) is (a) 24 (b) 28 (c) 36 (d)

48

° Watch Video Solution

84. A large field of 700 hectares is divided into

two parts. The difference of the areas of the


https://dl.doubtnut.com/l/_C0wGq6uBgzxC
https://dl.doubtnut.com/l/_WGnCIsswSPTe
https://dl.doubtnut.com/l/_1vw8wU0nFu36

two parts is one-fifth of the average of the two
areas. What is the area of the smaller part in
hectares? (a) 225 (b) 280 (c) 300

(d) 315

o Watch Video Solution

85. A rectangular paper, when folded into two
congruent parts had a perimeter of 34 cm for
each part folded along one set of sides and
the same is 38 cm when folded along the

other set of sides. What is the area of the


https://dl.doubtnut.com/l/_1vw8wU0nFu36
https://dl.doubtnut.com/l/_yaAqNM3ADRGZ

paper? (a) 140cm2 (b) 240cm2 (c) 560cm?2

(d) None of these

° Watch Video Solution

86. A rectangular plot is half as long again as it
: : .2 :
is broad and its area is 3 hectares. Then, its

length is (a) 100m (b) 33.33m (c) 66.66m (d)

100+/3
3

m

o Watch Video Solution



https://dl.doubtnut.com/l/_yaAqNM3ADRGZ
https://dl.doubtnut.com/l/_qDpLjkxMe9WK

87. An artist has completed one-fourth of a
rectangular oil painting. When he will paint
another 100 square centimetres of the
painting, he would complete three-quarters of
the painting. If the height of the oil painting is
10 cm, determine the length (in cm) of the oil

painting.(a) 10 (b) 15 (c) 20 (d) 25

o Watch Video Solution



https://dl.doubtnut.com/l/_ERs8qLstSfGP

88. A courtyard 25m long and 16m broad is to
be paved with bricks of dimensions 20cm by
10cm. The total number of bricks required is
(a) 18000 (b) 20000 (c) 25000 (d) None of

these

o Watch Video Solution

89. How many metres of carpet 63 cm wide will

be required to cover the floor of a room 14 m


https://dl.doubtnut.com/l/_Albxr4R6QWcW
https://dl.doubtnut.com/l/_hPS4Xnu2Rivt

by 9 m? (a) 185m (b) 200m (c) 210m

(d) 220m

° Watch Video Solution

90. The cost of carpeting a room 18m long
with a carpet 75cm wide at Rs 4.50 per metre
is Rs 810. The breadth of the room is (a)

7m (b) 7.5m (c) 8m (d) 8.5m

o Watch Video Solution



https://dl.doubtnut.com/l/_hPS4Xnu2Rivt
https://dl.doubtnut.com/l/_H0z5UJK1Y3TI

91. The diagonal of the floor of a rectangular
closet is 7% feet. The shorter side of the
closet is 4% feet. What is the area of the
closet in square feet? (a) 5 L (b) 13 (c) 27 (d)

37

o Watch Video Solution

92. The length of a rectangle is three times of
its width. If the length of the diagonal is

8,/10m, then the perimeter of the rectangle


https://dl.doubtnut.com/l/_EyxQhUV0pveD
https://dl.doubtnut.com/l/_8KKLjCXEgDbX

is: (a) 154/10 m (b) 164/10 m (c) 24,/10 m (d)

64dm

° Watch Video Solution

93. The diagonal of a rectangle is thrice its
smaller side. The ratio of the length to the

breadth of the rectangle is (a) 3:1 (b) \/5: 1 (c)

V2:1(d) 24/2:1

o Watch Video Solution



https://dl.doubtnut.com/l/_8KKLjCXEgDbX
https://dl.doubtnut.com/l/_KweSkW5hSD1k

94. The diagonal of a rectangle is 10 cms and is
twice the length of one of the sides. What is
the area of the rectangle in sq. cm? 10,/3 (b)

25 () 25+/3 (d) 100

o Watch Video Solution

95. The diagonal of a rectangular field is 15
metres and the difference between its length

and width is 3 metres. The area of the


https://dl.doubtnut.com/l/_KHGq63h5X8b1
https://dl.doubtnut.com/l/_va1VpWPvOBpl

rectangular field is (a) 9m2 (b) 12m2 (c)

21m?2 (d) 108m?2

° Watch Video Solution

96. A rectangular carpet has area 120m? and
perimeter 46 metres. The length of its

diagonals is 15m (b) 16m (c) 177m (d) 20m

° Watch Video Solution



https://dl.doubtnut.com/l/_va1VpWPvOBpl
https://dl.doubtnut.com/l/_mr13SpSArzwQ

97. The diagonal of a rectangle is v/41cm and
its area is 20 sq. cm. The perimeter of the
rectangle must be (a) 9 cm (b) 18 cm (c) 20 cm

(d) 41 cm

o Watch Video Solution

98. If the area of a rectangle is /3 d* , where
2d is the length of its diagonal, then its
perimeter is equal to 4./3d (b) 2,/3d (c)

4(y/3+1)d(d)2(y/3+1)d

| & I


https://dl.doubtnut.com/l/_cTBPrf497TvO
https://dl.doubtnut.com/l/_bZ9ncndxPZka

| ¥ Watch Video Solution |

99. If the diagonal and the area of a rectangle
are 25 m and 168m2, what is the length of the
rectangle? (a) 12m (b) 17m (c)

24m (d) 31m

o Watch Video Solution

100. A took 15 seconds to cross a rectangular
field diagonally walking at the rate of 52

m/min and B took the same time to cross the


https://dl.doubtnut.com/l/_bZ9ncndxPZka
https://dl.doubtnut.com/l/_lTcNBW8uLeVR
https://dl.doubtnut.com/l/_AcGF5shYHlgD

same field along its sides walking at the rate
of 68 m/min. The area of the field is (a) 30m2

(b) 40m2 (c) 50m2 (d) 60m?2

° Watch Video Solution

101. A rectangular carpet has an area of 60 sq.
m. If its diagonal and longer side together
equal 5 times the shorter side, the length of
the carpet is (a) 5m (b) 12m (c)

13m (d) 14.5m

° Watch Video Solution



https://dl.doubtnut.com/l/_AcGF5shYHlgD
https://dl.doubtnut.com/l/_Jst8l08GvzuA

102. The ratio between the length and the
breadth of a rectangular field is 3:2. If only the
length is increased by 5 metres, the new area
of the field will be 2600 sq. metres. What is the
breadth of the rectangular field? (a) 40
metres (b) 60 metres (c) 65 metres (d)

Cannot be determined (e) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_Jst8l08GvzuA
https://dl.doubtnut.com/l/_AaB5bmZgIUj7

103. The cost of carpeting a room is Rs 120. If
the width had been 4 metres less, the cost of
the carpet would have been Rs 20 less. The
width of the room is (a) 18.5m (b) 20m

(c) 24m (d) 25m

o Watch Video Solution

104. The length of a rectangular blackboard is
8 m more than its breadth. If its length is

increased by 7m and its breadth is decreased


https://dl.doubtnut.com/l/_dkMqjWxXiXdW
https://dl.doubtnut.com/l/_WxfNCaqFmsGt

by 4 m, its area remains unchanged. The
length and breadth of the rectangular
blackboard is (a) 24m, 16m (b) 20m, 24m (c)

28m, 16m (d) 28m, 20m

o Watch Video Solution

105. The area of a grassy plot is 480 sq. m. If
each side had been 5 m longer, the area would
have been increased by 245 sq. m. Find the
length of the fence to surround it. (a) 87m

(b) 8m (c) 90m (d) None of these

| e |


https://dl.doubtnut.com/l/_WxfNCaqFmsGt
https://dl.doubtnut.com/l/_Q2Z8JqjkhI7J

& Watch Video Solution I

106. The area of a rectangle gets reduced by 9
square units if its length is reduced by 5 units
and the breadth is increased by 3 units. If we
increase the length by 3 units and breadth by
2 units, the area is increased by 67 square
units. Find the length and breadth of the

rectangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2Z8JqjkhI7J
https://dl.doubtnut.com/l/_yeXCQnKFxHuk

107. If each side of a rectangle is increased by
50%, its area will increase by (a) 50% (b)

125% (c) 150% (d) 200%

o Watch Video Solution

108. An order was placed for supply of carpet
of breadth 3 metre, the length of carpet was
144 times of breadth. Subsequently the
breadth and length were increased by 25 and

40 percent respectively. At the rate of 45 per


https://dl.doubtnut.com/l/_DxCtLv8zwXsY
https://dl.doubtnut.com/l/_URdsLOjYgvFS

square metre, what would be the increase in
the cost of the carpet? (a) Rs 398.80 (b) Rs
43740 (c) Rs 583.20 (d) Rs 1020.60 (e)

None of these

° Watch Video Solution

109. If the length of a rectangle is increased by
10% and its breadth is decreased by 10%, the
change in its area will be (a) 1% increase (b)

1% decrease (c) 10% increase (d) No change

° Watch Video Solution



https://dl.doubtnut.com/l/_URdsLOjYgvFS
https://dl.doubtnut.com/l/_dXGMqrijSFeb

110. Two sides of a rectangle were measured.
One of the sides (length) was measured 10%
more than its actual length and the other side
(width) was measured 5% less than its actual
length. The percentage error in measure

obtained for the area of the rectangle is (a)

45% (b)5% () 756% (d)15%

o Watch Video Solution



https://dl.doubtnut.com/l/_dXGMqrijSFeb
https://dl.doubtnut.com/l/_sj4KeLWfCQ1o

11. If the length of a rectangle is increased by
50% and breadth is decreased by 25%, what is
the percentage change in its area? 12.5%
increase (b) 10% increase (c) 25% increase

(d) 20% decrease

o Watch Video Solution

112. A towel, when bleached, was found to have

lost 20% of its length and 10% of its breadth.


https://dl.doubtnut.com/l/_AcMLXLgkD3qp
https://dl.doubtnut.com/l/_RDsifaB8IksB

The percentage of decrease in area is (a)

10% (b)) 10.08%  (c) 20% (d) 28%

° Watch Video Solution

113. The length of a rectangle is halved, while
its breadth is tripled. What is the percentage
change in area? 25% increase (b) 50%

increase (c) 50% decrease (d) 75% decrease

o Watch Video Solution



https://dl.doubtnut.com/l/_RDsifaB8IksB
https://dl.doubtnut.com/l/_ZLh5XPRqH5HS

114. The length of a rectangle is decreased by
r% , and the breadth is increased by
(r +5) % .Find 7, if the area of the rectangle

is unaltered.(a) 5 (b) 8 (c) 10 (d) 15 (e) 20

o Watch Video Solution

115. The length of a rectangle is increased by
30%. By what percent would the breadth have

to be decreased to maintain the same area?

o Watch Video Solution



https://dl.doubtnut.com/l/_SEFdgXXUJbCJ
https://dl.doubtnut.com/l/_a9TsGctt4Sc5

116. If the area of a rectangular plot increases
by 30% while its breadth remains the same,
what will be the ratio of the areas of new and
old figures? (a) 1:3 (b) 3:1 (c) 4:7 (d)

10:13 (e) None of these

o Watch Video Solution

117. If the breadth of a rectangle is decreased

by 50%, then to double the area, its length is


https://dl.doubtnut.com/l/_a9TsGctt4Sc5
https://dl.doubtnut.com/l/_wRvXEs01eNev
https://dl.doubtnut.com/l/_2fouiibbPmBx

required to be increased by (a) 150% (b)

200% (c) 300% (d) 400%

° Watch Video Solution

118. If the length and breadth of a rectangular
field are increased, the area increases by 50%.
If the increase in length was 20%, by what
percentage was the breadth increased? (a)
20% (b) 25% (c) 30% (d) Data

inadequate  (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_2fouiibbPmBx
https://dl.doubtnut.com/l/_CTzfb4o4J8ge

119. The length of a rectangle is reduced by
20% and breadth is kept constant, and the
new figure that is formed is a square. Consider
the following statements: The area of square
is 25% less than the area of rectangle. The
perimeter of square is approximately 11% less
than the perimeter of rectangle. The diagonal
of square is approximately 12% less than the
diagonal of rectangle. Which of the

statements given above is/are correct? (a) 1


https://dl.doubtnut.com/l/_CTzfb4o4J8ge
https://dl.doubtnut.com/l/_irPa6VYJv6i7

only (b) 1and 2 (c) 2 and 3 (d) 1,2

and 3

° Watch Video Solution

120. A typist uses a paper 30 cm by 15 cm. He
leaves a margin of 2.5 cm at the top and
bottom and 125 cm on either side. What
percentage of paper area is approximately
available for typing? (a) 60% (b) 65% (c)

70%  (d) 80%

o Watch Video Solution



https://dl.doubtnut.com/l/_irPa6VYJv6i7
https://dl.doubtnut.com/l/_OOphYG001nzv

121. Aroom 5m X 8m is to be carpeted leaving
a margin of 10 cm from each wall. If the cost of
the carpet is Rs 18 per Sq. metre, the cost of
carpeting the room will be (a) Rs 673.92 (b) Rs

682.46 (c) Rs 691.80 (d) Rs 702.60

o Watch Video Solution

122. A lawn is in the shape of a rectangle of 80
m length and 50m width. Outside the lawn

there is a footpath of uniform 1m width


https://dl.doubtnut.com/l/_OOphYG001nzv
https://dl.doubtnut.com/l/_GzdIHurh3fnT
https://dl.doubtnut.com/l/_QfL0QxvIscne

bordering the lawn. The area of the footpath
is (a) 264m?2 (b) 284m2 (c) 4000m2 (d)

4264m?2

o Watch Video Solution

123. The breadth of a rectangular field is % of
its length and its area is 300 sq. metres. What
will be the area (in sq. metres) of the garden
of breadth 1.5 metres developed around the
field? (a) 96 (b) 105 (c) 114 (d) Cannot be

determined (e) None of these

| e |


https://dl.doubtnut.com/l/_QfL0QxvIscne
https://dl.doubtnut.com/l/_27v8tYXP3IT6

& Watch Video Solution I

124. What will be the cost of gardening 1 metre
broad boundary around a rectangular plot
having perimeter of 340 metres at the rate of
Rs 10 per square metre? (a) Rs 17700 (b) Rs
3400 (c) Rs 3440 (d) Cannot be

determined (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_27v8tYXP3IT6
https://dl.doubtnut.com/l/_uvRMKxao4lfB

125. 2 metres broad pathway is to be
constructed around a rectangular plot on the
inside. The area of the plot is 96 sq. m. The
rate of construction is Rs 50 per square metre.
Find the total cost of the construction. (a) Rs
2400 (b) Rs 4000 (c) Rs 4800 (d) Data

inadequate (e) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_wq1z7HDqEbYJ

126. A path of uniform width runs round the
inside of a rectangular field 38 m long and 32
m wide. If the path occupies 600 m2, then the
width of the path is (a) 5 m (b) 10 m

(c) 18.75 m (d) 30 m

o Watch Video Solution

127. Within a rectangular garden 10 m wide
and 20 m long, we with to pave a walk around

the borders of uniform width so as to leave an


https://dl.doubtnut.com/l/_2s2RP7cNSh8D
https://dl.doubtnut.com/l/_dpMpQExRPnXJ

area of 96m2 for flowers. How wide should the
walk be? (a) 1T m (b) 2 m (c) 21 m (d)

2.5 m

o Watch Video Solution

128. A rectangular garden (60m x 40m) is
surrounded by a road of width 2 m, the road is
covered by tiles and the garden is fenced. If
the total expenditure is Rs 51600 and rate of

fencing is Rs 50 per metre, then the cost of


https://dl.doubtnut.com/l/_dpMpQExRPnXJ
https://dl.doubtnut.com/l/_PrMkkKxxHkPN

covering 1sqg. m of road by tiles is (a) Rs 10 (b)

Rs 50 (c) Rs 100 (d) Rs 150

° Watch Video Solution

129. A rectangle lawn 80m x 60m has two
roads each with 10 m wide running in the
middle of it,one parallel to the length and the
other parallel to the breadth. The cost of

gravelling them at 30 paise sq. m is

° Watch Video Solution



https://dl.doubtnut.com/l/_PrMkkKxxHkPN
https://dl.doubtnut.com/l/_OjJxIQVKL26t
https://dl.doubtnut.com/l/_3rjuKYTgkGJW

130. A rectangular field has dimensions 25m by
15m. Two mutually perpendicular passages, 2
m wide have been left in its central part and
grass has been grown in rest of the field. The
area (in sq. metres) under the grass is (a)

295 (b) 299 (c) 300 (d) 375

o Watch Video Solution

131. A rectangular park 60 m long and 40 m
wide has two concrete crossroads running in

the middle of the park and rest of the park has


https://dl.doubtnut.com/l/_3rjuKYTgkGJW
https://dl.doubtnut.com/l/_toFqdGp61Cod

been used as a lawn. If the area of the lawn is
2109 sg. m, then what is the width of the road?
(a) 2.91Tm (b) 3m (c) 5.82m (d) None

of these

o Watch Video Solution

132. Nine playing cards are set up to form a
rectangle as shown in the adjoining figure, If
the area of the rectangle so formed is 180

square inches, what is its perimeter?


https://dl.doubtnut.com/l/_toFqdGp61Cod
https://dl.doubtnut.com/l/_xWyCGVzXtLaa

(FIGURE) (a) 48 inches (b) 56 inches (c) 58

inches (d) 60 inches

° Watch Video Solution

133. A garden is 24m long and 14m wide. There
is a path Tm wide outside the garden along its
sides. If the path is to be constructed with
square marble tiles 20cm x 20cm, the number

of tiles required to cover the path is

° Watch Video Solution



https://dl.doubtnut.com/l/_xWyCGVzXtLaa
https://dl.doubtnut.com/l/_VFjCqUj28hP1
https://dl.doubtnut.com/l/_sbt05ryAt5J4

134. The dimensions of a rectangle are 5Im
and 49m respectively while side of a square is
50m. Which of the following statements is
correct? Diagonals of the square and the
rectangle are equal. Diagonals of both the
geometrical figures intersect at right angles.
The perimeters of both the geometrical
figures are equal. (d) Both the geometrical

figures are of the same area.

O Watch Video Solution



https://dl.doubtnut.com/l/_sbt05ryAt5J4

135. A housing society has been allotted a
square piece of land measuring 2550.25 sq. m.
What is the side of the plot? (a) 50.25 m  (b)

505m (c) 50.65 m (d) None of these

° Watch Video Solution

136. The area of a square with perimeter 48 cm
is (a) 144 sq.cm  (b) 156 sq. cm  (c) 170 sq.

cm  (d) 175 sq.cm

° Watch Video Solution



https://dl.doubtnut.com/l/_Ny1KqI47zUyR
https://dl.doubtnut.com/l/_xSzCns8JH8WZ

137. The length of the side of a square whose
area is four times the area of a square with
side 25m is (a) 12.5m (b) 50m (c)

100m (d) 125m

o Watch Video Solution

138. The area of a square is three-fifths the
area of a rectangle. The length of the
rectangle is 25cm and its breadth is 10cm less

than its length. What is the perimeter of the


https://dl.doubtnut.com/l/_xSzCns8JH8WZ
https://dl.doubtnut.com/l/_pwMmwfV9CfGw
https://dl.doubtnut.com/l/_oNsomHN5RfS1

square? (a) 44cm (b) 60cm (c) 80cm (d)

Cannot be determined (e) None of these

° Watch Video Solution

139. The area of a square is 1024 sq. cm. What
is the ratio of the length to the breadth of a
rectangle whose length is twice the side of the
square and breadth is 12 cm less than the side
of this square? (a) 5:18 (b) 16:7 (c) 14:5

(d) 32:5 (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_oNsomHN5RfS1
https://dl.doubtnut.com/l/_LxOCEp7h5bSF

140. ABCD is a square and AEFG is a
rectangle. Area of each of them is 36 sq. m. E
is the mid-point of AB . The perimeter of the
rectangle AEF'G is (a) 12m (b) 18m (c) 30m (d)

36m

o Watch Video Solution

141. The cost of cultivating a square field at the
rate of Rs 685 per hectare is Rs 6165. The cost

of putting a fence around it at the rate of Rs


https://dl.doubtnut.com/l/_LxOCEp7h5bSF
https://dl.doubtnut.com/l/_yCAjVkymWCEk
https://dl.doubtnut.com/l/_5TBcRFpkQBZ0

48.75 per metre would be (a) Rs 23400 (b)

Rs 52650 (c) Rs 58500 (d) Rs 117000

° Watch Video Solution

142. The perimeter of a square and a rectangle
is the same. If the rectangle is 12 cm by 10 cm,
then by what percentage is the area of the
square more than that of the rectangle? 3 (b)

1 1
1(c) 1§ (d) 1E (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_5TBcRFpkQBZ0
https://dl.doubtnut.com/l/_UDPUr510eHsf
https://dl.doubtnut.com/l/_PZPGmBRmFgQn

143. The following squares represent the
monthly incomes of two families (FIGURES) If
the monthly income of family A is Rs 40000,
the monthly income of family B is (a) Rs

50000 (b) Rs 60000 (c) Rs 90000 (d) Rs 120000

o Watch Video Solution

144. ABJH, JDEF, ACEG are squares.

BC _ g Area BCDJ .
AB  Area HIFG
1
(a) 5
1
(b) =

3


https://dl.doubtnut.com/l/_PZPGmBRmFgQn
https://dl.doubtnut.com/l/_OcLMexmSO9H0

(o)1

(d) 3

° Watch Video Solution

145. The perimeters of five squares are 24cm,
32cm, 40cm, 76cm and 80cm respectively. The
perimeter of another square equal in area to

the sum of areas of these squares is

o Watch Video Solution



https://dl.doubtnut.com/l/_OcLMexmSO9H0
https://dl.doubtnut.com/l/_6snaK4NlKCgq

146. A chess board contains 64 equal squares
and the area of each square is 6. 25 cm? . A
border round the board is 2 cm wide. Find the

length of the side of the chess board.

o Watch Video Solution

147. The adjoining figure contains three
squares with areas of 100, 16 and 49 lying side
by side as shown. By how much should the

area of the middle square be reduced in order


https://dl.doubtnut.com/l/_2pcGJDT5rJmF
https://dl.doubtnut.com/l/_PwDizKT1GFTp

that the total length PQ of the resulting

three squares is 19?7 \/§ (b) 2(c) 4 (d) 12

O Watch Video Solution

148. A coaching institute wants to execute
tiling work for one of its teaching halls 60m
long and 40m wide with a square tile of 0.4 m
side. If earth tile costs Rs 5, the total cost of
tiles would be (a) Rs 60000 (b) Rs 65000 (c)

Rs 70000 (d) Rs 75000

° Watch Video Solution



https://dl.doubtnut.com/l/_PwDizKT1GFTp
https://dl.doubtnut.com/l/_gwAMYsGFoz3I

149. The number of marble slabs of size
20cm x 30cm required to pave the floor of a
square room of side 3 metres is (a) 100 (b) 150

(c) 225 (d) 250

° Watch Video Solution

150. 50 square stone slabs of equal size were
needed to cover a floor area of 72 sq. m. The
length of each stone slab is (a) 102cm (b)

120cm  (c) 20lcm  (d) 210cm


https://dl.doubtnut.com/l/_gwAMYsGFoz3I
https://dl.doubtnut.com/l/_SrMD7t0O1GhU
https://dl.doubtnut.com/l/_LaKXTDIuaq47

° Watch Video Solution

151. How many squares with side 2 inch long
are needed to cover a rectangle that is 4 feet

long and 6 feet wide? (a) 24 (b) 96 (c) 3456 (d)

13824 (e) 14266

o Watch Video Solution

152. The length and breadth of the floor of the

room are 20 feet and 10 feet respectively.


https://dl.doubtnut.com/l/_LaKXTDIuaq47
https://dl.doubtnut.com/l/_ozcptMtV4Tpm
https://dl.doubtnut.com/l/_D6bmrOxDyvJw

Square tiles of 2 feet length of different
colours are to be laid on the floor. Black tiles
are laid in the first row on all sides. If white
tiles are laid in the one-third of the remaining
and blue tiles in the rest, how many blue tiles
will be there? (a) 16 (b) 24 (c) 32 (d)

48 (e) None of these

o Watch Video Solution

153. A big rectangular plot of area 4320m2 is

divided into 3 square-shaped smaller plots by


https://dl.doubtnut.com/l/_D6bmrOxDyvJw
https://dl.doubtnut.com/l/_6oP3uwYcazs9

fencing parallel to the smaller side of the plot.
However some area of land was still left as a
square could not be formed. So, 3 more
square-shaped plots were formed by fencing
parallel to the longer side of the original plot
such that no area of the plot was left surplus.
What are the dimensions of the original plot?
160m x 27m (b) 240m x 18m (c)

120m x 36m (d) 135m x 32m

o Watch Video Solution



https://dl.doubtnut.com/l/_6oP3uwYcazs9

154. Three plots having areas 110, 130 and 190
square metres are to be subdivided into flower
beds of equal size. If the breadth of a bed is 2
metre, the maximum length of a bed can be (a)

5m (b) 1Tm (c) 13m (d) 19m

o Watch Video Solution

155. A room is 122m long and 7m wide. The

maximum length of a square tile to fill the

floor of the room with whole number of tiles


https://dl.doubtnut.com/l/_ntN0gTL9TPuJ
https://dl.doubtnut.com/l/_M6q0agyXoKth

should be (a) 125cm (b) 150cm (c) 175cm (d)

200cm

° Watch Video Solution

156. What is the minimum number of identical

square tiles required to tile a floor of length

6m 24cm and width 4m 80cm? (a) 122 (b)
130 (c) 148 (d) 165 (e) None of
these

° Watch Video Solution



https://dl.doubtnut.com/l/_M6q0agyXoKth
https://dl.doubtnut.com/l/_Zh2YXcs2MRTV
https://dl.doubtnut.com/l/_UBqf2E35Zsd5

157. A rectangular room can be partitioned
into two equal square rooms by a partition 7
metres long. What is the area of the
rectangular room in square metres? (a)
49 (b) 147 (c) 196 (d) None of

these

o Watch Video Solution

158. Perimeter of a rectangular field is 160
metres and the difference between its two

adjacent sides is 48 metres. The side of a


https://dl.doubtnut.com/l/_UBqf2E35Zsd5
https://dl.doubtnut.com/l/_XE5CEljgychg

square field, having the same area as that of
the rectangle, is (a) 4m (b) 8m (c)

16m (d) 32m

o Watch Video Solution

159. The area of the shaded portion is
(FIGURE) (a) 10 sgq.cm (b) 14 sq.cm (c) 21 sq.

cm  (d) 25sg.cm

o Watch Video Solution



https://dl.doubtnut.com/l/_XE5CEljgychg
https://dl.doubtnut.com/l/_zZYV0DCr4a6d

160. The perimeter of a square is 48 cm. The
area of a rectangle is 4cm? less than the area
of the square. If the length of the rectangle is
14 cm, then its perimeter is

(a) 24cm

(b) 48 cm

(c) 50 cm

(d) 54cm

o Watch Video Solution



https://dl.doubtnut.com/l/_1Pvjo2Wbotmy

161. The area of a rectangle is thrice that of a

square. If the length of the rectangle is 40cm
3

and its breadth is 3 times that of the side of

the square, then the side of the square is (a)

15cm (b) 20cm (c) 30cm (d) 60cm

o Watch Video Solution

162. The perimeter of a rectangle and a square
are 160 m each. The area of the rectangle is

less than that of the square by 100 sq. m. The


https://dl.doubtnut.com/l/_VWj7L6zF6FU7
https://dl.doubtnut.com/l/_TDoJGhe0NHM6

length of the rectangle is (a) 30m (b)

40m (c) 50m (d) 60m

° Watch Video Solution

163. The area of a rectangle is four times the
area of a square. The length of the rectangle is
90cm and the breadth of the rectangle is %rd
the side of the square. What is the side of the

square? (a) 9cm (b) 10cm (c) 20cm (d) Cannot

be determined (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_TDoJGhe0NHM6
https://dl.doubtnut.com/l/_rDGXR9iV31ZE

164. The cost of fencing a square field @ Rs 20
per metre is Rs 10,080. How much will it cost
to lay a three metre wide pavement along the
fencing inside the field @ Rs 50 per sq. metre?
(a) Rs 37,350 (b) Rs 73,800 (c) Rs 77,400

(d) None of these

o Watch Video Solution

165. A park square in shape has a 3 metre wide

road inside it running along its sides. The area


https://dl.doubtnut.com/l/_rDGXR9iV31ZE
https://dl.doubtnut.com/l/_5JYUIkkcOPlF
https://dl.doubtnut.com/l/_8nseAj1gaAE6

occupied by the road is 1764 square metres.
What is the perimeter along the outer edge of
the road? (a) 576 metres (b) 600 metres (c)
640 metres (d) Data inadequate (e) None

of these

o Watch Video Solution

166. A man walked diagonally across a square
lot. Approximately, what was the percent saved
by not walking along the edges? (a) 20 (b)

24 (c) 30 (d) 33

| e |


https://dl.doubtnut.com/l/_8nseAj1gaAE6
https://dl.doubtnut.com/l/_rEcC6HwRRlzJ

& Wwatch Video Solution I

167. If the length of diagonal AC of a square
ABCD is 5.2cm, then the area of the square is
(@) 10.52sq. cm (b) 11.52sg. cm (c) 12.52sq. cm

(d) 13.52sq.cm

° Watch Video Solution

168. A man walking at the speed of 4 kmph

crosses a square field diagonally in 3 minutes.


https://dl.doubtnut.com/l/_rEcC6HwRRlzJ
https://dl.doubtnut.com/l/_P4C2lQ33vpi3
https://dl.doubtnut.com/l/_IldqJmSImq4a

The area of the field is (a) 18000m2 (b)

19000m2 (c) 20000m2 (d) 25000m?2

° Watch Video Solution

169. If the length of the diagonal of a square is
20 cm, then its perimeter must be 104/2cm (b)

40cm (c) 40\/§cm (d) 200 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_IldqJmSImq4a
https://dl.doubtnut.com/l/_0MRkWu5GmNqE

170. The area of a square field is 69696cm2. Its
diagonal will be equal to (a) 313.296m (b)

353.296m (c) 373.296m (d) 393.296m

o Watch Video Solution

171. What will be the length of the diagonal of
that square plot whose area is equal to the
area of a rectangular plot of length 45 metres

and breadth 40 metres? (a) 42.5 metres (b)


https://dl.doubtnut.com/l/_Im4DYNl9kNPb
https://dl.doubtnut.com/l/_nltpVHVOm5L7

60 metres (c) 75 metres (d) Data

inadequate (e) None of these

° Watch Video Solution

172. The area of a square field is 0.5 hectare. Its
diagonal would be (a) 50m (b) 50/2m (c)

100m (d) 250m

° Watch Video Solution



https://dl.doubtnut.com/l/_nltpVHVOm5L7
https://dl.doubtnut.com/l/_AXwT1R77s4Ir

173. Area of a square natural lake is 50 sq. kms.
A diver wishing to cross the lake diagonally,
will have to swim a distance of (a) 10 miles

(b) 12 miles (c) 15 miles  (d) None of these

o Watch Video Solution

174. The length of a rectangle is 20% more
than its breadth. What will be the ratio of the
area of a rectangle to that of a square whose

side is equal to the breadth of the rectangle?


https://dl.doubtnut.com/l/_wgomLAU2HGFX
https://dl.doubtnut.com/l/_WHL9KPBM2Ypa

(a) 2 : 1 (b) 5:6 (c) 6 : 5 (d) Data

inadequate (e) None of these

° Watch Video Solution

175. A square and a rectangle have equal areas.
If their perimeters are p; and p, respectively,

then (a) p1 < p2 (b) p1 = p2 (&) P1 > P2 (d)

None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_WHL9KPBM2Ypa
https://dl.doubtnut.com/l/_tRvqWu9KFQEh

176. If the perimeters of a square and a
rectangle are the same, then the areas A and
B enclosed by them would satisfy the
condition (@) A < B(b) A < B(c) A > B (d)

A>B

o Watch Video Solution

177. The diagonal of a square is 44/2 cm. The

diagonal of another square whose area is


https://dl.doubtnut.com/l/_o9Katdx4FSxw
https://dl.doubtnut.com/l/_aAaSlkpL66fa

double that of the first square, is (a) 8 cm (b)

8v/2cm (c) 44/2¢m (d) 16cm

° Watch Video Solution

178. The area of a square and that of a square

drawn on its diagonal are in the ratio 1:4/2

(b)1:21:3(d) 1:4

° Watch Video Solution



https://dl.doubtnut.com/l/_aAaSlkpL66fa
https://dl.doubtnut.com/l/_WmYflTDQs0E5

179. A square S; encloses another square S5 in
such a manner that each corner of S, is at the
mid-point of the side of S] . If A; is the area of
S; and A, is the area of S5 , then 4; =4 A,

(b) Ay =2A5(c) Ay =2A,(d) 4; = A,

o Watch Video Solution

A

180. If a square of area ) is cut off from a
given square of area A, then the ratio of

diagonal of the cut off square to that of the


https://dl.doubtnut.com/l/_53CHz1QvG5Jn
https://dl.doubtnut.com/l/_FPgzVbUmugMc

given square is (a) 1: 5 (b) 1: 2,/5 (c) 1: 1/5 (d)

1:4/2

° Watch Video Solution

181. The ratio of the areas of two squares, one
having its diagonal double than the other, is

1:2 (b) 2:3  (c) 3:1 (d) 4:1

° Watch Video Solution



https://dl.doubtnut.com/l/_FPgzVbUmugMc
https://dl.doubtnut.com/l/_SlFIX6AnfDxg

182. If the ratio of areas of two squares is
225:256, then the ratio of their perimeters is

225:256 (b) 256:225 (c) 15:16 (d) 16:15

o Watch Video Solution

183. Of the two square fields, the area of one is
1 hectare while the other one is broader by 1%.
The difference in their areas is (a) 100 m2 (b)

101m2 (c)200m2 (d) 201 m2

o Watch Video Solution



https://dl.doubtnut.com/l/_9uvN0Y0Nl1zg
https://dl.doubtnut.com/l/_nY2yoMaglFOu

184. If each side of a square is increased by
10%, its area will be increased by (a) 10%

(b) 21% (c) 44% (d) 100%

o Watch Video Solution

185. If each side of a square is increased by
50%, the ratio of the area of the resulting
square to that of the given square is (a) 4 :

5 (b)5:4 (c)4:9 (d)9:4

o Watch Video Solution



https://dl.doubtnut.com/l/_nY2yoMaglFOu
https://dl.doubtnut.com/l/_7kbwkiS1umbD
https://dl.doubtnut.com/l/_ofI8gZLolSZy

186. If the side of a square are halved, then its

area (a) remains same (b) becomes
half (c) becomes one fourth (d) becomes
double

o Watch Video Solution

187. If the sides of a square be doubled find

the increase of percentage in area. (a)


https://dl.doubtnut.com/l/_ofI8gZLolSZy
https://dl.doubtnut.com/l/_khYcL2Dxeqms
https://dl.doubtnut.com/l/_DmijFD1lGnQ1

100% (b) 200% (c) 300% (d)

400%

° Watch Video Solution

188. An error of 2% in excess is made while
measuring the side of a square. The
percentage of error in the calculated area of
the square is (a) 2% (b) 2.02% (c)

4% (d) 4.04%

° Watch Video Solution



https://dl.doubtnut.com/l/_DmijFD1lGnQ1
https://dl.doubtnut.com/l/_NF4NnWohRTJb
https://dl.doubtnut.com/l/_qSyAKKWBnrRO

189. If the area of a square increases by 69%,

then the side of the square increases by (a)

3% (b)30% (c)39% (d) 69%

o Watch Video Solution

190. If the diagonal of a square is made 1.5
times, then the ratio of the areas of two
squaresis(a)4:3 (b)4:5 (c)4:7

(d)4:9

o Watch Video Solution



https://dl.doubtnut.com/l/_qSyAKKWBnrRO
https://dl.doubtnut.com/l/_ln3iYWW3o7WG

191. The length and breadth of a square are
increased by 40% and 30% respectively. The
area of the resulting rectangle exceeds the
area of the square by (a) 35% (b)

42% (c) 62% (d) 82%

o Watch Video Solution

192. The length of one pair of opposite sides of
a square is increased by 5 cm on each side; the

ratio of the length and the breadth of the


https://dl.doubtnut.com/l/_kHq0hX6W61mM
https://dl.doubtnut.com/l/_J7lYPNNtDiQB

newly formed rectangle becomes 3 : 2. What is
the area of the original square? (a) 25 sq. cm
(b) 81 sgq. cm (c) 100 sqg. cm (d) 225 sq.

cm (e) None of these

o Watch Video Solution

193. If the length of a certain rectangle is
decreased by 4 cm and the width is increased
by 3 cm, a square with the same area as the

original rectangle would result. The perimeter


https://dl.doubtnut.com/l/_J7lYPNNtDiQB
https://dl.doubtnut.com/l/_LDloO6OPqB0A

of the original rectangle (in cm) is (a) 44

(b) 46 (c) 48 (d) 50

o Watch Video Solution

194. A rectangle becomes a square when its
length is reduced by 10 units and its breadth
is increased by 5 units. But by this process the
area of the rectangle is reduced by 210 sq.
units. The area of the rectangle
2950 > A < 2900 (b) 2900 > A > 2875 (c)

'2925<>2875(d)2925 > A > 2900'

| |


https://dl.doubtnut.com/l/_LDloO6OPqB0A
https://dl.doubtnut.com/l/_MSx8yj6HPF6P

& Watch Video Solution I

195. If the side of a square is increased by 5 cm,
the area increases by 165 sq. cm. The side of
the square is (a) 12 cm (b) 13 cm (c) 14 cm

(d) 15 cm

° Watch Video Solution

196. The difference of the areas of two squares
drawn on two line segments of different

lengths is 32 sq. cm. Find the length of the


https://dl.doubtnut.com/l/_4Fa5hzMyfu9e
https://dl.doubtnut.com/l/_ejtpKXzk48bL

greater line segment if one is longer than the
otherby2cm.(a) 7cm (b) 9cm (c) 11 cm (d)

16 cm

o Watch Video Solution

197. The areas of a square and a rectangle are
equal. The length of the rectangle is greater
than the length of any side of the square by 5
cm and the breadth is less by 3 cm. Find the
perimeter of the rectangle.(a) 17 cm (b) 26

cm (c)30cm  (d) 34 cm

| e |


https://dl.doubtnut.com/l/_ejtpKXzk48bL
https://dl.doubtnut.com/l/_zZGHCbVD8AbZ

& Watch Video Solution I

198. The area of a square is twice that of a
rectangle. The perimeter of the rectangle is 10
cm. If its length and breadth each is increased
by 1 cm, the area of the rectangle becomes
equal to the area of the square. The length of
side of the square is 2,/3cm (b) 34/2cm (c)

4,/3cm (d) 12 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_zZGHCbVD8AbZ
https://dl.doubtnut.com/l/_E7J7AvzAECer

199. Twenty-nine times the area of a square is
one square metre less than six times the area
of the second square and nine times its side
exceeds the perimeter of other square by 1
metre. The difference in the sides of these

4
squares is (a) 5m (b) %m (c) 6m (d) 1Tm

o Watch Video Solution

200. A rectangular plank /2 metre wide is

placed symmetrically on the diagonal of a


https://dl.doubtnut.com/l/_VrdPOkhDoVCA
https://dl.doubtnut.com/l/_90U2EEpa0wDS

square of side 8 metres as shown in the figure.

The area of the plank is 7+/2 sgqm (b) 14 sqgm

(c) 98 sq. m (d) (164/2 — 3) sqgm

° Watch Video Solution

201. What will be the area of 4 metre high wall
on all four sides of a rectangular hall having
perimeter 64 m? (a) 256m?2 (b) 328m2 (c)
384m2 (d) Cannot be determined (e)

None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_90U2EEpa0wDS
https://dl.doubtnut.com/l/_1dXe1dsUGchW

202. The area of the four walls of a room is
120m2 and the length is twice the breadth. If
the height of the room is 4m, then the area of
the floor is (a) 48m?2 (b) 49m?2 (c)

50m2 (d) 52m2

o Watch Video Solution

203. A tank is 25 m long, 12 m wide and 6 m

deep. The cost of plastering the walls and


https://dl.doubtnut.com/l/_1dXe1dsUGchW
https://dl.doubtnut.com/l/_7B80oQB393zg
https://dl.doubtnut.com/l/_PEnxYGt06Ybi

bottom at 75 paise per sq. m,is (a) Rs 456 (b)

Rs 458 (c) Rs 558 (d) Rs 568

° Watch Video Solution

204. The length of a room is double its
breadth. The cost of colouring the ceiling at Rs
25 per sq. m is Rs 5000 and the cost of
painting the four walls at Rs 240 per sq. m is
Rs 64800. Find the height of the room. (a)

3.5m (b) 4m (c)4.5m (d) 5m

° Watch Video Solution



https://dl.doubtnut.com/l/_PEnxYGt06Ybi
https://dl.doubtnut.com/l/_sOfdrEIZcGWe

205. The dimensions of a room are 12.5 m by
9m by 7m. There are 2 doors and 4 windows in
the room; each door measures 2.5 m by 1.2 m
and each window 1.5m by 1 m. Find the cost of

painting the walls at Rs. 3.50 per square metre.

o Watch Video Solution

206. A hall, whose length is 16m and the
breadth is twice its height, takes 168m of

paper with 2m as its width to cover its four


https://dl.doubtnut.com/l/_sOfdrEIZcGWe
https://dl.doubtnut.com/l/_HpO4EBoDWXug
https://dl.doubtnut.com/l/_Aj74USHvxnjN

walls. The area of the floor is (a) 96m?2 (b)

190m?2 (c) 192m2  (d) 216m?2

° Watch Video Solution

207. The cost of papering the four walls of a
room is Rs 475. Each one of the length,
breadth and height of another room is double
that of this room. The cost of papering the
walls of this new room is (a) Rs 712.50 (b) Rs

950 (c) Rs 1425 (d)Rs 1900

° Watch Video Solution



https://dl.doubtnut.com/l/_Aj74USHvxnjN
https://dl.doubtnut.com/l/_jrNozQiwmU4O

208. The ratio of the height of a room to its
semi-perimeter is 2 : 5. It costs Rs 260 to paper
the walls of the room with paper 50 cm wide
at Rs 2 per metre allowing an area of 15 sq. m
for doors and windows. The height of the
room is (a) 2.6m (b) 3.9m (c) 4m (d)

4.2m

o Watch Video Solution



https://dl.doubtnut.com/l/_jrNozQiwmU4O
https://dl.doubtnut.com/l/_q8E1NAdbf0iG

209. The length, breadth and height of the
room are in the ratio 3:2:1. The breadth and
height of the room are halved and length of
the room is doubled. The area of the four walls
of the room will (a) decrease by 13.64% (b)
decrease by 15% (c) decrease by 18.75%

(d) decrease by 30%

o Watch Video Solution



https://dl.doubtnut.com/l/_Efz4oam9efVJ

210. Consider the following: (FIGURE)
Which one of the following conclusions can be
drawn from these figures? The areas of the
three figures are all different. The areas of all
the three figures are equal. The perimeters of
the three figures are equal. (d) The perimeters

of figures | and Il are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_5jCIqaQiN33m

211. The base of a triangle is 15cm and height
is 12cm. The height of another triangle of
double the area having the base 20cm is (a)

8cm (b) 9cm  (c) 12.5cm  (d) 18cm

o Watch Video Solution

212. The area of a right-angled triangle is 40
times its base. What is its height? (a)
45cm (b) 60cm (c) 80cm (d) Data

inadequate (e) None of these

| & I


https://dl.doubtnut.com/l/_XzhA3dlVriGh
https://dl.doubtnut.com/l/_jMybE4wUF10E

| ¥ Watch Video Solution |

213. The area of a triangle is p sqcm and its

base is * cm. What is the height of the

2T

. . 2p T p
triangle (in cm)? (a) — (b) 2_p (c) o (d)

° Watch Video Solution

214. Each side of an equilateral triangle is 8
cm. Its area is (a)164/3 em? (b) 32v/3 em? (c)

24./3 cm? (d) 84/3 cm?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_jMybE4wUF10E
https://dl.doubtnut.com/l/_q1zPb8v0wlh5
https://dl.doubtnut.com/l/_JXohn9AuNLam

215. The ratio of the area of a square of side a

and that of an equilateral triangle of side a, is

2:1(b)2:4/34:3(d)4:/3

o Watch Video Solution

216. ABCD is a rectangle and ABFE is a
triangle whose vertex E lies on CD . If

AB = 5c¢m and the area of the triangle is 10


https://dl.doubtnut.com/l/_JXohn9AuNLam
https://dl.doubtnut.com/l/_woTo4TZ0VioU
https://dl.doubtnut.com/l/_3RaviL4pzEo5

sg. cm, then the perimeter of the rectangle is

(a) 14 cm (b) 15 cm (c) 18 cm (d) 20 cm

° Watch Video Solution

217. The area of a triangle is equal to that of a
square whose each side measures 60 metres.
Find the side of the triangle whose

corresponding altitude is 90 metres.

o Watch Video Solution



https://dl.doubtnut.com/l/_3RaviL4pzEo5
https://dl.doubtnut.com/l/_WFtOtRMhnSGy

218. What is the area of the given figure?
(FIGURE) (a) 988 cm2 (b) 1104 cm2 (c) 120

cm2 (d) 132.6 cm2

o Watch Video Solution

219. In A PQR, side PQ = 32cm and side
PR = 25cm. What is the measure of side QR
? (a) 44/154cm (b) %/Wcm (c) éh/@cm (d)

Cannot be determined (e) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_zTqjYxtfgoB1
https://dl.doubtnut.com/l/_odhKUuf8Wq4z

220. What is the area of A PQR, shown in

Fig.? (a) 24/154 sq. cm (b) 34/154 sq. cm (c)
4\/m sg. cm (d) Cannot be determined (e)

None of these

o Watch Video Solution

221. Out of a square of side 8 cm, a triangle is
drawn with base as one side of the square and
third vertex at any point on the opposite side

of the square. What is the area of the


https://dl.doubtnut.com/l/_odhKUuf8Wq4z
https://dl.doubtnut.com/l/_kvGguQyUGjvd
https://dl.doubtnut.com/l/_Jp0bJe4H1s6g

remaining portion of the square if the triangle
is taken out? (a) 16 sq.cm (b) 32 sq.cm (c)
64 sq. cm (d) Cannot be determined (e)

None of these

° Watch Video Solution

222. Consider the given figure (FIGURE) If the

areas of the triangles LDC, BMC and AMC

are denoted by z, y and z respectively, then

(d) z = 2x = 2y

| e |


https://dl.doubtnut.com/l/_Jp0bJe4H1s6g
https://dl.doubtnut.com/l/_XMkJKO60OhVW

& Wwatch Video Solution I

223. If the area of a triangle is 1176 cm2 and
base : corresponding altitude is 3 : 4, then the
altitude of the triangle is (a) 42 cm (b) 52

cm (c) 54 cm (d) 56 cm

° Watch Video Solution

224. The area of a triangle whose sides are of
lengths 3 cm,4 cmand 5cmis (a) 8 cm2  (b)

6cm2 (c) 10cm2 (d) None of these


https://dl.doubtnut.com/l/_XMkJKO60OhVW
https://dl.doubtnut.com/l/_lsbpnGBtD6mL
https://dl.doubtnut.com/l/_jrHl4dy4Z7u8

° Watch Video Solution

225. The three sides of a triangular field are 20
metres, 21 metres and 29 metres long
respectively. The area of the field is (a) 210 sq.
m (b) 215sg. m (c) 230 sgq. m (d) None of

these

° Watch Video Solution



https://dl.doubtnut.com/l/_jrHl4dy4Z7u8
https://dl.doubtnut.com/l/_FXSwrVwXILLE

226. The perimeter of an isosceles triangle is
equal to 14 cm and the lateral side is to the
base in the ratio 5: 4. The area of the triangle
is (a) 21 cm2 (b) 0. 51/21cm? (c) 1. 5v/21cm?

(d) 2¢/21cm?

o Watch Video Solution

227. The sides of a triangle are in the ratio of

1 1

1 . :
'3 If the perimeter is 52 cm, then the


https://dl.doubtnut.com/l/_szPCrORAbDxh
https://dl.doubtnut.com/l/_eK2mBChJQ3nS

length of the smallest side is (a) 9cm (b) 10cm

(c) T1em (d) 12cm

° Watch Video Solution

228. The sides of a triangle are consecutive
integers. The perimeter of the triangle is 120
cm. Find the length of the greatest side. (a)

39cm  (b) 40cm  (c) 41cm  (d) 42cm

o Watch Video Solution



https://dl.doubtnut.com/l/_eK2mBChJQ3nS
https://dl.doubtnut.com/l/_di3PmKidA4M8

229. The area of a triangle is 216 cm2 and its
sides are in the ratio 3:4:5. The perimeter of
the triangle is (a) 6cm (b) 12cm (c)

36cm  (d) 72cm

o Watch Video Solution

230. If three sides of a triangle are 6 cm, 8 cm
and 10 cm, then the altitude of the triangle,
using the largest side as its base, will be (a)

4.4 cm (b)48cm (¢)6cm (d) 8 cm

| & I


https://dl.doubtnut.com/l/_Q9yqbA0g3d41
https://dl.doubtnut.com/l/_6DwalSF1H8nF

| ¥ Watch Video Solution |

231. The sides of a triangle are 3 cm, 4 cm and
5 cm. The area (in cm2) of the triangle formed
by joining the mid-points of the sides of this

triangle i 3b3 3(d)6
rlangelsz( )E(C) (d)

o Watch Video Solution

232. If D, E and F' are the mid-points of the

sides of a /A ABC, the ratio of the areas of


https://dl.doubtnut.com/l/_6DwalSF1H8nF
https://dl.doubtnut.com/l/_04YvieC1oBdh
https://dl.doubtnut.com/l/_Gcvkx6QamzrT

the triangles DEF and DCE'is (a) 1.1:1 (b) 1:1.1

(c) 1:1 (d) 0.9:1

° Watch Video Solution

233. The sides of a triangle are 5 cm, 6 cm, and
7 cm. One more triangle is formed by joining
the mid-points of the sides. The perimeter of
the second triangle in cm is (a) 6 (b) 9

(c)12 (d) 18 (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_Gcvkx6QamzrT
https://dl.doubtnut.com/l/_VgU1j3LivAUT
https://dl.doubtnut.com/l/_AIwzXDAzrnuo

234. In a triangle ABC , a line XY is drawn
parallel to BC meeting ABin X and AC'inY
. The area of the triangle AXY is half of the
area of the triangle ABC' . XY divides AB in
the ratio of 1 :\/5 (b) \/5 : (\/ﬁ — 1) (c)
1:(vV2-1)(d)v2:43

o Watch Video Solution

235. The areas of two similar triangles are 12
cm2 and 48 cm?2. If the height of the smaller

one is 2.1 cm, then the corresponding height


https://dl.doubtnut.com/l/_AIwzXDAzrnuo
https://dl.doubtnut.com/l/_mdaf0wDw3n8u

of the bigger oneis (a) 0.525cm (b) 4.2 cm

(c)441cm (d) 84 cm

° Watch Video Solution

236. A triangle of area 9 y cm? has been drawn
such that its area is equal to the area of an

equilateral triangle of side 6 cm. The value of y

would be /2 (b) /3 (c) 2(d) 3

o Watch Video Solution



https://dl.doubtnut.com/l/_mdaf0wDw3n8u
https://dl.doubtnut.com/l/_HcGfoss9xmmz

237. The hypotenuse of a right-angled
isosceles triangle is 5 cm. The area of the
triangle is (a) 5 cm2 (b) 6.25 cm?2 (c) 6.5

cm2  (d) 12.5cm?2

o Watch Video Solution

238. One side of a right-angled triangle is
twice the other, and the hypotenuse is 10 cm.
The area of the triangle is (a) 20 cm2 (b)

1
33§cm2 (c) 40 cm2 (d) 50 cm2

| & I


https://dl.doubtnut.com/l/_E8gfIgvwd4ov
https://dl.doubtnut.com/l/_bnTN2dm8JLYU

| ¥ Watch Video Solution |

239. The area of a right-angled triangle is 20
sg. cm and one of the sides containing the

right angle is 4 cm. The altitude on the

A 4 (o) [41 -
ypotenuse IS cm —CIm C
V34 40

29 20
cm (d)

V20 V29

cm

o Watch Video Solution

240. The base and altitude of right-angled

triangle are 12 cm and 5 cm respectively. The


https://dl.doubtnut.com/l/_bnTN2dm8JLYU
https://dl.doubtnut.com/l/_QFcJrl6FMzpp
https://dl.doubtnut.com/l/_L80cdGaxHAJv

perpendicular distance of its hypotenuse from

. : 4 8
the opposite vertex is 41—30m (b) 41—30m (c)

S5em (d) 7Tem

° Watch Video Solution

241. If the hypotenuse of a right-angled
triangle is 41 cm and the area of the triangle is
180 sg. cm, then the difference between the
lengths of the legs of the triangle must be (a)

22cm  (b)25cm (c) 27 cm  (d) 31 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_L80cdGaxHAJv
https://dl.doubtnut.com/l/_2CGGvr7dmqtp

242. The perimeter of a right-angled triangle is
60 cm. Its hypotenuse is 26 cm. The area of the
triangle is 120 cm? (b) 240 cm? (c) 390 em? (d)

780 cm?

° Watch Video Solution

243. If the perimeter of a right-angled isosceles
triangle is (4\/§+ 4)cm, the length of the
hypotenuse is (a) 4 cm (b) 6 cm (c) 8 cm (d) 10

cm


https://dl.doubtnut.com/l/_2CGGvr7dmqtp
https://dl.doubtnut.com/l/_AzAa3cy3V5sn
https://dl.doubtnut.com/l/_vPpg6A4IiY90

° Watch Video Solution

244. If the perimeter of an isosceles right
triangle is (6 + 3\/§)m , then the area of the
triangle is 4.5m? (b) 5.4m? (c) 9m? (d)

81 m?

o Watch Video Solution

245. The perimeter of an isosceles right-angled

triangle having an area of 162cm? is (a) 40


https://dl.doubtnut.com/l/_vPpg6A4IiY90
https://dl.doubtnut.com/l/_GHCEoHvmyWyS
https://dl.doubtnut.com/l/_OgsmqMGkykGN

cm (b) 56.5cm  (c) 61.38 cm (d) 68.2 cm

o Watch Video Solution

246. In an isosceles triangle, the measure of
each of the equal sides is 10 cm and the angle
between them is 450 . The area of the triangle
is 25 cm? (b) 2—25ﬂ em? (c) 2542 cem? (d)

25./3 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_OgsmqMGkykGN
https://dl.doubtnut.com/l/_PkNRWbCw7Rfd

247. The perimeter of a triangle is 30 cm and
its area is 30 cm2. If the largest side measures
13 cm, then what is the length of the smallest
side of the triangle? (a)3cm (b)4cm ()

5cm  (d) 6cm

o Watch Video Solution

248. If the area of an equilateral triangle is
24./3 sqcm , then its perimeter is 2,/6 cm (b)

4,/6 cm (c) 124/6 cm (d) 96 cm

| & I


https://dl.doubtnut.com/l/_37OnpECTIUxJ
https://dl.doubtnut.com/l/_BE3hi5DzpXMa

| ¥ Watch Video Solution |

249. The altitude of an equilateral triangle of

_ 1 3 3
side 24/3 cm is 5 cm (b) %cm (c) %cm

(d) 3cm

° Watch Video Solution

250. The height of an equilateral triangle is 10

cm. Its area is (a) — cm” (b) 30 ecm” (c)

3
100
100 em? (d) — em?

l o Watch Video Solution


https://dl.doubtnut.com/l/_BE3hi5DzpXMa
https://dl.doubtnut.com/l/_Qxubdn1lD4OQ
https://dl.doubtnut.com/l/_YM4OWCpPqw9J

251. The areas of two equilateral triangles are
in the ratio 25:36. Their altitudes will be in the

ratio (a) 25:36 (b) 36:25 (c) 5:6 (d) v/5 : /6

o Watch Video Solution

252. From a point within an equilateral
triangle, perpendiculars drawn to the three

sides are 6 cm, 7 cm, and 8 cm respectively. The


https://dl.doubtnut.com/l/_YM4OWCpPqw9J
https://dl.doubtnut.com/l/_9ekqljXcDgUq
https://dl.doubtnut.com/l/_fQvq1EQyPGxm

length of the side of the triangle is (a) 7 cm (b)

10.5 cm (c) 144/3 4\[

o Watch Video Solution

253. If = is the length of a median of an

equilateral triangle, then its area is (a) x> (b)

1 2 \/g 2

o Watch Video Solution



https://dl.doubtnut.com/l/_fQvq1EQyPGxm
https://dl.doubtnut.com/l/_YGJVTJIKRDAE

254, ABCD is a square. F is the mid-point of
BC and F'is the mid-point of C'D . The ratio
of the area of triangle AEF to the area of the
square ABCDis(a)1:2(b)1:3(c)1:4(d) 3:

8

o Watch Video Solution

255. If the area of a square with side a is equal
to the area of a triangle with base a , then the

altitude of the triangle is % (b) a (c) 2a (d) 4a

| & I


https://dl.doubtnut.com/l/_7yFitocQEQib
https://dl.doubtnut.com/l/_L96055mbZE2e

| ¥ Watch Video Solution |

256. An equilateral triangle is described on the
diagonal of a square. What is the ratio of the

area of the triangle to that of the square?

2:4/3(b)4:4/3(c)/3:2(d) /3:4

o Watch Video Solution

257. What will be the ratio between the area of
a rectangle and the area of a triangle with one

of the sides of the rectangle as base and a


https://dl.doubtnut.com/l/_L96055mbZE2e
https://dl.doubtnut.com/l/_Gl9eZseWIxnU
https://dl.doubtnut.com/l/_5ms2lFdSboGp

vertex on the opposite side of the rectangle?
(@) 1: 2 (b) 2 : 1 (c) 3 :1 (d) Data

inadequate (e) None of these

o Watch Video Solution

258. If an equilateral triangle of area X and a
square of area Y have the same perimeter,
then X is equal to Y (b) greater than Y (c)

less than Y (d) less than or equal to Y

° Watch Video Solution



https://dl.doubtnut.com/l/_5ms2lFdSboGp
https://dl.doubtnut.com/l/_KlxbIlTNE9Ff
https://dl.doubtnut.com/l/_Fmz4XoS1wV40

259. A square and an equilateral triangle have
equal perimeters. If the diagonal of the square
is 12¢/2cm , then area of the triangle is:
24,/2cm?® (b) 24,/3cm?® 48,/3cm® (d)

64,/3 cm?

o Watch Video Solution

260. The ratio of bases of two triangles is x:y
and that of their areas is a: b. Then the ratio

of their corresponding altitudes will be (a)

az:by®) L: 2 () ay:bo (d) L
a

b
z oy Y


https://dl.doubtnut.com/l/_Fmz4XoS1wV40
https://dl.doubtnut.com/l/_vULlNE8vQev8

° Watch Video Solution

261. If the sides of a triangle be in the ratio 2:
3 : 4, the ratio of the corresponding altitudes
is(a)6:5:3 (b)4:5:6 (c)5:4:3 (d)6

:4:3

o Watch Video Solution

262. If the side of an equilateral triangle is

decreased by 20%, its area is decreased by (a)


https://dl.doubtnut.com/l/_vULlNE8vQev8
https://dl.doubtnut.com/l/_dVgFQyMWv1zz
https://dl.doubtnut.com/l/_DEPNHzpA3MuC

36% (b)40% (c)60%  (d) 64%

o Watch Video Solution

263. If the height of a triangle is decreased by
40% and its base is increased by 40%, what
will  be the effect on its area? (a) No
change (b) 8% decrease (c) 16% increase

(d) 16% decrease

o Watch Video Solution



https://dl.doubtnut.com/l/_DEPNHzpA3MuC
https://dl.doubtnut.com/l/_lvMKZBCuBwfA

264. If every side of a triangle is doubled, then
increase in the area of the triangle is

100v/2 % (b) 200% (c) 300% (d) 400%

o Watch Video Solution

265. Two isosceles triangles have equal vertical
angles and their corresponding sides are in
the ratio 3:5. What is the ratio of their areas?
(a)3:5

(b) 6:10


https://dl.doubtnut.com/l/_tfgPPVXXMDsH
https://dl.doubtnut.com/l/_pVoWkTFPIXwB

(c) 9:25

(d) None of these

° Watch Video Solution

266. If an angle of a triangle remains
unchanged but each of its two including sides
is doubled, then by what factor does the area
get multiplied? (a) 2 (b) 3 (c) 4

(d) 6

° Watch Video Solution



https://dl.doubtnut.com/l/_pVoWkTFPIXwB
https://dl.doubtnut.com/l/_qeEEmFxQ1pPy
https://dl.doubtnut.com/l/_4sYi6n9Cf4RW

267. In the given figure, ABCD is a rectangle
with AD =4 units and AE = EBEF is
perpendicular to DB and is half of DF'. If the
area of the triangle DEF' is 5 sq. units, then
what is the area of ABCD ? 18,/3 sq. units

(b) 20 sq. units (c) 24 sqg. units (d) 28 sq. units

o Watch Video Solution

268. Four equilateral triangles are described
on the four sides of a rectangle with perimeter

12 cm. If the sum of the areas of the four


https://dl.doubtnut.com/l/_4sYi6n9Cf4RW
https://dl.doubtnut.com/l/_aU998GDfwwpg

triangles is 104/3 cm? , what is the area of the
rectangle? (@) 5 cm2 (b) 8 cm2 (c) 9 cm2 (d)

6.75 cm?2

° Watch Video Solution

269. The dimensions of the field shown in the
given figure are AC = 150m, AH = 120m ,
(b) AG =80m, AF =50m : (c)
EF =30m, GB=50m , (d) HD = 20cm
The area of this field is (a) 6500 m2 (b) 6550

m2 (c) 6600 m2 (d) 6650 m2

| |


https://dl.doubtnut.com/l/_aU998GDfwwpg
https://dl.doubtnut.com/l/_4OyVXhllF8PS

& Wwatch Video Solution I

270. The readings in a field book are: (FIGURE)
It is subsequently realised that the distances
to C and D had been interchanged by
mistake. The area of the actual field would be
(@) 1300 sg. m (b) 1500 sg. m (c) 1800 sqg. m (d)

2000 sq. m

° Watch Video Solution



https://dl.doubtnut.com/l/_4OyVXhllF8PS
https://dl.doubtnut.com/l/_2FWccYht8X6t

271. The measurements of a field are as shown:
(FIGURE) If the total area of the field is 27500
sg. m, then the value of z is equal to (a) 25 m

(b) 30 m (c) 50 m (d) 75 m

o Watch Video Solution

272. A field in the form of a parallelogram has
one side 150 metres and its distance from the
opposite side is 80 metres. The cost of

watering the field at the rate of 50 paise per


https://dl.doubtnut.com/l/_B1MLwbv3dCqf
https://dl.doubtnut.com/l/_6zCN0JIEkd81

square metre is (a) Rs 3500 (b) Rs 5000

(c) Rs 6000 (d) Rs 7000

° Watch Video Solution

273. Let ABCD be a parallelogram and
ABEF be a rectangle with EF' lying along
the line CD . If AB = Tcm and BE = 6. bcm
, then the area of the parallelogram is
11. 375¢cm* (b) 22.75cm” (c) 45em’® (d)

45. 5¢m?

o Watch Video Solution



https://dl.doubtnut.com/l/_6zCN0JIEkd81
https://dl.doubtnut.com/l/_tu7apPJULpLe

274. A rectangle and a parallelogram are
drawn between the same parallel lines on a
common base of 10 cm. If the perimeter of the
rectangle is 36 cm, then the area of the

parallelogram is 60cm? (b) 80cm? (c) 8lem?

(d) 100cm?

o Watch Video Solution

275. A rectangle and a parallelogram have

equal areas. If the sides of the rectangle are 10


https://dl.doubtnut.com/l/_tu7apPJULpLe
https://dl.doubtnut.com/l/_sNZHthpYO6BQ
https://dl.doubtnut.com/l/_BtRghEQVSig0

m and 12 m and the base of the parallelogram
is 20 m, then the altitude of the parallelogram

is(a) 3 m (b) 5m (c)6m (d)7m

o Watch Video Solution

276. A parallelogram has sides 30m and 14m
and one of its diagonals is 40 m long. Then, its
area is 168m” (b) 336 m” (c) 372m’ (d)

480 m?

° Watch Video Solution



https://dl.doubtnut.com/l/_BtRghEQVSig0
https://dl.doubtnut.com/l/_p71OrGQ4rkJ6
https://dl.doubtnut.com/l/_CVkGKC0DDUpf

277. One diagonal of a parallelogram is 70 cm
and the perpendicular distance of this
diagonal from either of the outlying vertices is
27 cm. The area of the parallelogram (in sq.

cm)is (a) 1800 (b) 1836 (c) 1890  (d) 1980

O Watch Video Solution

278. A triangle and a parallelogram are
constructed on the same base such that their
areas are equal. If the altitude of the

parallelogram is 100m, then the altitude of the


https://dl.doubtnut.com/l/_CVkGKC0DDUpf
https://dl.doubtnut.com/l/_s3pqia8Xp1FL

triangle is 104/2m (b) 100m (c) 100,/2m (d)

200m

° Watch Video Solution

279. Two equilateral triangles of side 2,/3 cm
are joined to form a quadrilateral. The altitude
of the quadrilateral, thus formed, is equal to

(a)3cm (b) 4 cm (c) 6cm (d) 8 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_s3pqia8Xp1FL
https://dl.doubtnut.com/l/_OYWmsx0XP8xx

280. If a parallelogram with area P, a rectangle
with area R and a triangle with area T are all
constructed on the same base and all have the
same altitude, then which of the following
statements is false? () P =R (b)

1
P—I—T:ZR(C)P:ZT(d)T:ER

o Watch Video Solution

281. The area of a rhombus is 150 cm2. The

length of one of its diagonals is 10 cm. The


https://dl.doubtnut.com/l/_8dLRBcpVXCMe
https://dl.doubtnut.com/l/_CyY2jMkdfilQ

length of the other diagonal is (a) 25cm  (b)

30cm  (c¢)35cm  (d) 40 cm

° Watch Video Solution

282. One of the diagonals of a rhombus is
double the other diagonals. Its area is 25 sq.
cm. The sum of the diagonals is (a) 10 cm

(b)12cm (c)15cm (d) 16 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_CyY2jMkdfilQ
https://dl.doubtnut.com/l/_NbzwGgcazlR7

283. The perimeter of a rhombus is 56 cm and
its height is 5 m. Its area is (a) 64 sq. m  (b)

70sg.m (c)78sg.m (d) 84 sq.m

o Watch Video Solution

284.If a diagonals of a rhombus are 24 cm and
10 cm, the area and the perimeter of the
rhombus are respectively (a) 120 cm2, 52
cm (b) 120 cm2, 64 cm (c) 240 cm2, 52

cm (d) 240 cm2, 64 cm

| & I


https://dl.doubtnut.com/l/_GiGrR8ss50Eq
https://dl.doubtnut.com/l/_mD9ZgyiLCYAW

| ¥ Watch Video Solution |

285. Each side of a rhombus is 26 cm and one
of its diagonals is 48 cm long. The area of the
rhombus is (a) 2400 cm2  (b) 3000 cm2  (c)

3600 cm2 (d) 4800 cm?2

o Watch Video Solution

286. A diagonal of a rhombus is 6 cm. If its area

is 24 cm2 then the length of each side of the


https://dl.doubtnut.com/l/_mD9ZgyiLCYAW
https://dl.doubtnut.com/l/_lskRBoXWkyk3
https://dl.doubtnut.com/l/_KxlxIiJQX4YO

rhombus is (a) 5 cm (b)6cm (c) 7 cm

(d) 8 cm

° Watch Video Solution

287. If each side of a rhombus is 20 metres and
its shorter diagonal is three-fourths of its
longer diagonal, then the area of this
rhombus must be (a) 375 sq. m (b) 380 sq.

m (c)384sq.m (d)395sq.m

° Watch Video Solution



https://dl.doubtnut.com/l/_KxlxIiJQX4YO
https://dl.doubtnut.com/l/_pMu4B5gYAvj4
https://dl.doubtnut.com/l/_HzDLqQQGfc07

288. The length of one diagonal of a rhombus
is 80% of the other diagonal. The area of the

rhombus is how many times the square of the

4 2 3
length of the other diagonal? 5 (b) 5 (c) 1

dl
()Z

° Watch Video Solution

289. If a square and a rhombus stand on the
same base, then the ratio of the areas of the
square and the rhombus is (a) greater than 1

1 1
(b) equal to 1(c) equal to 3 (d) equal to 1


https://dl.doubtnut.com/l/_HzDLqQQGfc07
https://dl.doubtnut.com/l/_TQuwSMixxBjd

° Watch Video Solution

290. The two parallel sides of a trapezium are
1.5 m and 25 m respectively. If the
perpendicular distance between them is 6.5
metres, the area of the trapezium is (a) 10

m2 (b)13m2 (c)20m2 (d) 26 m2

° Watch Video Solution



https://dl.doubtnut.com/l/_TQuwSMixxBjd
https://dl.doubtnut.com/l/_hZVK9LWJwpgi

291. If the area of the trapezium whose parallel
sides are 6 cm and 10 cm is 32 sq. cm, then the
distance between the parallel sides is (a) 2

cm (b)) 4 cm (c)5cm (d) 8 cm

o Watch Video Solution

292. The distance between the parallel sides of
a trapezium = The distance between the mid-

points of the slant sides = 4 cm. What is the


https://dl.doubtnut.com/l/_PB1RKOMDRQWY
https://dl.doubtnut.com/l/_MuJIHRiVQNGk

area of the trapezium? (a) 4 cm2  (b) 8 cm2

(c)16cm2 (d) 20 cm2

° Watch Video Solution

293. ABCD is a rectangle and E and F are
the mid-points of AD and DC respectively.
Then the ratio of the areas of EDF and
AFEFC wouldbe(a)1:2(b)1:3(c)1:4(d) 2:

3

° Watch Video Solution



https://dl.doubtnut.com/l/_MuJIHRiVQNGk
https://dl.doubtnut.com/l/_IHSHVLPbebap
https://dl.doubtnut.com/l/_9rJye7RkQT60

294, The area of a field in the shape of a
trapezium measures 1440 m2. The
perpendicular distance between its parallel
sides is 24 m. If the ratio of the parallel sides is
5: 3, the length of the longer parallel side is
(a) 45 m (b) 60 m (c) 75 m (d) 120

m

° Watch Video Solution

295. The cross-section of a canal is trapezium

in shape. The canal is 12 m wide at the top and


https://dl.doubtnut.com/l/_9rJye7RkQT60
https://dl.doubtnut.com/l/_FClL3xgs8p6e

8 m wide at the bottom. If the area of the
cross-section is 840 sq. m, the depth of the
canal is (a) 875 m (b) 42 m (c) 63

m (d) 84 m

° Watch Video Solution

296. Which two figure have an equal area?
(FIGURES) A and B (b) Band D (c¢) A and C

(d) Aand D

° Watch Video Solution



https://dl.doubtnut.com/l/_FClL3xgs8p6e
https://dl.doubtnut.com/l/_yu5Jh04wqSfe
https://dl.doubtnut.com/l/_iIZt9cxkkckq

297. Which of the following figures has the
longest perimeter? (a) A square of side 10cm

(b) A rectangle of sides 12cm and 9cm (c) A
circle of radius 7 cm  (d) A rhombus of side 9

cm

° Watch Video Solution

298. Which one of the following has a greater
perimeter than the rest? A square with an area
of 36 sq. cm An equilateral triangle with a side

of 9 cm A rectangle with 10 cm as length and


https://dl.doubtnut.com/l/_iIZt9cxkkckq
https://dl.doubtnut.com/l/_UvSXl7MG4OLH

40 sqg. cm as area (d) A circle with a radius of 4

cm

° Watch Video Solution

299. The diameter of a circle is 3.5 cm. What is
the circumference of the circle? (a) 11 cm
(b) 22 cm (c) 38.5 cm (d) 45.2 cm

(e) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_UvSXl7MG4OLH
https://dl.doubtnut.com/l/_9o4Q5ZUE6CnV

300. Area of a rectangle is equal to the area of
a circle whose radius is 14 cm. If the breadth of
the rectangle is 22 cm, what is the length? (a)
24 cm (b) 26 cm (c) 28 cm (d) Cannot

be determined (e) None of these

o Watch Video Solution

301. The area of a circle of radius 5 is
numerically what percent of its circumference?

(a) 200 (b) 225 (c) 240 (d) 250

| & I


https://dl.doubtnut.com/l/_mCb3U3GxZpuJ
https://dl.doubtnut.com/l/_ifBg8FAB72Fs

| ¥ Watch Video Solution |

302. A man runs round a circular field of radius
50 m at the speed of 12 km/hr. What is the
time taken by the man to take twenty rounds
of the field? (a) 30 min. (b) 32 min.  (c) 34

min. (d) None of these

o Watch Video Solution

303. From a circular sheet of paper with radius

20 cm, four circles of radius 5 cm each are cut


https://dl.doubtnut.com/l/_ifBg8FAB72Fs
https://dl.doubtnut.com/l/_CkoZAX7SwVIR
https://dl.doubtnut.com/l/_wewueIMG3fxk

out. What is the ratio of the uncut to the cut
portion? (a) 1: 3 (b)3:1 (c)4:1

(d)4:3

o Watch Video Solution

304. A cow is tethered in the middle of a field
with a 14 feet long rope. If the cow grazes 100
sq. ft. per day, then approximately what time
will be taken by the cow to graze the whole
field? (a) 2 days (b) 6 days (c) 18 days (d) 24

days (d) None of these

| |


https://dl.doubtnut.com/l/_wewueIMG3fxk
https://dl.doubtnut.com/l/_sgoolMM4VrEP

& watch Video Solution I

305. A circle and a rectangle have the same
perimeter. The sides of the rectangle are 18 cm
and 26 cm. What is the area of the circle? (a)
88 cm2 (b)154 cm2 (c) 1250 cm2 (d) Cannot

be determined (e) None of these

° Watch Video Solution

306. The area of a circular field is equal to the

area of a rectangular field. The ratio of the


https://dl.doubtnut.com/l/_sgoolMM4VrEP
https://dl.doubtnut.com/l/_RGmZI9V1Cwbi
https://dl.doubtnut.com/l/_SHkoLbDXrJ7c

length and the breadth of the rectangular
field is 14:11 respectively and perimeter is 100
metres. What is the diameter of the circular
field?(@)14 m (b)22m ()24 m (d)28m

(d) None of these

° Watch Video Solution

307. The circumference of a circle, whose area
is 24.64 m2,is (a) 14.64 m (b) 16.36 m (c)

1760 m  (d) 1840 m

° Watch Video Solution



https://dl.doubtnut.com/l/_SHkoLbDXrJ7c
https://dl.doubtnut.com/l/_N1pjem9XuyKH

308. What will be the cost of building a fence
around a circular field with area equal to 18634
sg. metres if the cost of building the fence per
metre is Rs 3657 (a) Rs 1,76,660 (b) Rs
2,43,250 (c) Rs 56,60,220 (d) Rs 68,01,410

(d) None of these

° Watch Video Solution

309. The circumference of a circular plot is 396

metres. What is the area of the circular plot?


https://dl.doubtnut.com/l/_N1pjem9XuyKH
https://dl.doubtnut.com/l/_3lzAiVt99sxu
https://dl.doubtnut.com/l/_2Uxxp91BpGnR

(@) 9446 sq.m (b) 9856 sgq. m  (c) 12474 sq.

m (d) 18634 sq. m (d) None of these

° Watch Video Solution

310. What is the area of a circle whose
circumference is 1047.2 metres (a) 69843.23 sq.
m (b) 7862147 sq. m  (c) 79943.82 sq. m (d)

85142.28 sq. m (e) 87231.76 sq. m

o Watch Video Solution



https://dl.doubtnut.com/l/_2Uxxp91BpGnR
https://dl.doubtnut.com/l/_BGppDIFt9qgV

311. The circumferences of two circles are 132
metres and 176 metres respectively. What is
the difference between the area of the larger
circle and the smaller circle? (a) 1048 sq. m

(b) 1076 sq. m (c) 1078 sq. m (d) 1090 sq.

m (e) None of these

o Watch Video Solution

312. Cost of fencing a circular plot at the rate

of Rs 15 per metre is Rs 3300. What will be the


https://dl.doubtnut.com/l/_9v6BpSEt0bpE
https://dl.doubtnut.com/l/_mGCBghMEBkT2

cost of fencing the plot at the rate of Rs 100
per square metre? (a) Rs 2,20,000 (b) Rs
3,50,000 (c) Rs 3,85,000 (d) Cannot be

determined (e) None of these

O Watch Video Solution

313. If the circumference and the area of a

circle are numerically equal, then the diameter
7r

5 (b)2m(c)2(d) 4

is equal to

O Watch Video Solution



https://dl.doubtnut.com/l/_mGCBghMEBkT2
https://dl.doubtnut.com/l/_nPxxJkJI7dtU
https://dl.doubtnut.com/l/_soRV2wFkV220

314. The magnitude of the area of a circle is
seven times that of its circumference. What is
the circumference (in units) of the circle? (a)
88 (b) 132 (c) 616 (d) Cannot be

determined (e) None of these

° Watch Video Solution

315. The difference between the circumference
and radius of a circle is 37 cm. The area of the
circle is (a)111 em? (b) 148 em? (c)154 em? (d)

285 cm?


https://dl.doubtnut.com/l/_soRV2wFkV220
https://dl.doubtnut.com/l/_5sgdtvODQX6T

° Watch Video Solution

316. Two small circular plots of diameters 16 m
and 12 m are to be replaced by a Bigger
circular park. What would be the radius of this
new park, if the new park has to occupy the
same space as the two small parks? (a) 10 m

(b)15m (c)20m (d) 25m

o Watch Video Solution



https://dl.doubtnut.com/l/_5sgdtvODQX6T
https://dl.doubtnut.com/l/_WX5zDIRLFLtZ

317. The sum of areas of two circles A and B is
equal to the area of a third circle C' whose
diameter is 30 cm, If the diameter of circle A4 is
18 cm, then the radius of circle B is (a) 10 cm

(b) 12 cm (c) 15 cm (d) 18 cm

o Watch Video Solution

318. The sum of the radii of two circles is 140

cm and the difference of their circumferences

is 88 cm. Find the diameters of the circles.

| & |


https://dl.doubtnut.com/l/_h9gewdfFSP45
https://dl.doubtnut.com/l/_SFoRSRMsS0LL

| ¥ Watch Video Solution |

319. The radius of a circle is 20% more than
the height of a right-angled triangle. The base
of the triangle is 36 cm. If the area of triangle
and circle be equal, what will be the area of
circle? (a) 72cm2 (b) 128 cm2  (c) 144 cm2

(d) 216 cm?2 (e) Cannot be determined

o Watch Video Solution



https://dl.doubtnut.com/l/_SFoRSRMsS0LL
https://dl.doubtnut.com/l/_amnTXeAPMPks

320. A circular pond has area equal to 616 m2.
A circular stage is made at the centre of the
pond whose radius is equal to half the radius
of the pond. What is the area where water is
present? (a) 454 sq.m (b) 462 sq.m (c) 532

sg.m (d) 564 sq.m

o Watch Video Solution

321. Between a square of perimeter 44 cm and

a circle of circumference 44 cm, which figure


https://dl.doubtnut.com/l/_wTKMXqXvlxfV
https://dl.doubtnut.com/l/_8rytY4uR3koI

has larger area and by how much? (a) Both
have equal area  (b) Square, 33 cm2 (c) Circle,

33 cm2 (d) Square, 495 cm2

° Watch Video Solution

322. The perimeter of a circular field and a
square field are equal. If the area of the square
field is 12100 m2, the area of the circular field
will be (a) 15200m?2 (b) 15300m2 (c)

15400m2 (d) 15500m?2

° Watch Video Solution



https://dl.doubtnut.com/l/_8rytY4uR3koI
https://dl.doubtnut.com/l/_sIBTEPt4hT3r

323. If the perimeter of a square is equal to
the radius of a circle whose area is 39424 sq.
m. What is the area of the square? (a) 441 sq.
m (b) 784 sq. m (c) 1225 sq. m (d) Cannot

be determined (e) None of these

o Watch Video Solution

324. A wire can be bent in the form of a circle

of radius 56 cm. If it is bent in the form of a


https://dl.doubtnut.com/l/_sIBTEPt4hT3r
https://dl.doubtnut.com/l/_naQRBytY3zqz
https://dl.doubtnut.com/l/_NRClbIRcOPLn

square, then its area will be (a) 3520 cm2  (b)

6400 cm2 (c) 7744 cm2 (d) 8800 cm2

O Watch Video Solution

325. The circumference of a circle is equal to
the side of a square whose area measures
407044 sq. cm. What is the area of the circle
(@) 22583.2 sq. cm (b) 32378.5 sq. cm (c)
39483.4 sq. cm (d) 41263.5 sq. cm (e)

Cannot be determined

° Watch Video Solution



https://dl.doubtnut.com/l/_NRClbIRcOPLn
https://dl.doubtnut.com/l/_j8MlA4oOaqI3

326. The copper wire, when bent in the form of
a square, encloses an area of 484 ¢m? . If the
same wire is bent in the form of a circle, find

the area enclosed by it.

° Watch Video Solution

327. A circular wire of diameter 42 cm is bent
in the form of a rectangle whose sides are in

the ratio 6 : 5. The area of the rectangle is (a)


https://dl.doubtnut.com/l/_j8MlA4oOaqI3
https://dl.doubtnut.com/l/_3pw1exeSYDfP
https://dl.doubtnut.com/l/_oZwXhluVwK7y

540 cm2 (b) 1080 cm2 (c) 2160 cm2  (d)

4320 cm?2

o Watch Video Solution

328. A square lawn with side 100 m long has a
circular flower bed in the centre. If the area of
the lawn, excluding the flower bed, is 8614 m2,
the radius of the circular flower bed is (a) 21

m (b)31m (c)41m (d) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_oZwXhluVwK7y
https://dl.doubtnut.com/l/_KicZRwEV5CZ9
https://dl.doubtnut.com/l/_ApTcQ50uInzv

329. There is a rectangular tank of length 180
m and breadth 120 m in a circular field. If the
area of the land portion of the field is
40000m2, what is the radius of the field? (a)

130m (b)135m (c) 140 m (d) 145 m

o Watch Video Solution

330. If the ratio between the areas of two
circles is 4 : 1 then the ratio between their
radii will be (a) 1: 2 (b) 2:1 (c)1:3

(d)4:1


https://dl.doubtnut.com/l/_ApTcQ50uInzv
https://dl.doubtnut.com/l/_oPTqdkdGmg73

° Watch Video Solution

331. The areas of two circular fields are in the
ratio 16:49. If the radius of the latter is 14 m,
then what is the radius of the former? (a) 4

m (b)8m (c)18 m (d)32m

o Watch Video Solution

332. The ratio of the radii of two circles is 3: 2.

What is the ratio of their circumferences?

| |


https://dl.doubtnut.com/l/_oPTqdkdGmg73
https://dl.doubtnut.com/l/_wfwjRE24Tg8f
https://dl.doubtnut.com/l/_GYuSS1tMlT5e

& Watch Video Solution I

333. The ratio of the radii of two circles is 1: 3.
Then the ratio of their areas is (a) 1: 3 (b) 1

: 6 (c)1:9 (d) None of these

° Watch Video Solution

334. The circumferences of two circles are in

the ratio 2: 3. Find the ratio of their areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_GYuSS1tMlT5e
https://dl.doubtnut.com/l/_fPwzRvZIXnsL
https://dl.doubtnut.com/l/_wVg0M2fAmGnp

335. The perimeter of a circle is equal to the
perimeter of a square. Then, their areas are in
the ratio (a) 4 : 1 (b)11:7 (c) 14 : 1

(d)22:7

o Watch Video Solution

336. The area of a square is equal to the area
of a circle. The ratio between the side of the

square and the radius of the circle is (a) ﬁ: 1

(b)1:y/m(c)l:m(d)m:1

| I


https://dl.doubtnut.com/l/_1AXAcNjt3w7b
https://dl.doubtnut.com/l/_DPahTULH50Nk

| ¥ Watch Video Solution |

337. If the areas of a circle and a square are

equal then the ratio of their perimeters is (a) 1

1) 2 :mw(c)w:2(d) \/m : 2

o Watch Video Solution

338. The diameter of a wheel is 1.26m. How far
will it travel in 500 revolutions? (a) 1492 m

(b) 1980 m (c)2530m (d) 2880 m

o Watch Video Solution



https://dl.doubtnut.com/l/_DPahTULH50Nk
https://dl.doubtnut.com/l/_nFOpx0IHdAPO
https://dl.doubtnut.com/l/_2DlYjixvSFr9

339. The number of revolutions made by a
wheel of diameter 56 cm in covering a distance
of 1.1 km is: (a) 31.25 (b) 56.25 (c)

62.5 (d) 625

o Watch Video Solution

340. The diameter of the driving wheel of a

bus is 140cm. How many revolutions per


https://dl.doubtnut.com/l/_2DlYjixvSFr9
https://dl.doubtnut.com/l/_dJ6seNVqMDXe
https://dl.doubtnut.com/l/_FzEd7MrTZFLX

minute must the wheel make in order to keep

a speed of 66km per hour?

° Watch Video Solution

2
341. If the wheel of the engine of a train 47

metres in circumference makes 7 revolutions

in 4 seconds, then the speed (in km/hr) of the

train is (a) 27 (b) 28 (c) 29 (d) 30

o Watch Video Solution



https://dl.doubtnut.com/l/_FzEd7MrTZFLX
https://dl.doubtnut.com/l/_edP1XnVwG0Z8

342. The radius of the wheel of a vehicle is 70
cm. The wheel makes 10 revolutions in 5
seconds. The speed of the vehicle is (a) 29.46
km/hr (b) 31.68 km/hr (c) 32.72 km/hr (d)

36.25 km/hr

o Watch Video Solution

343. The diameter of a cycle wheel is 70 cm. A
cyclist takes 30 hours to reach a destination at

the speed of 22 km/hr. How many revolutions


https://dl.doubtnut.com/l/_sLLnl0Fq4oD4
https://dl.doubtnut.com/l/_MjrJnVkuBmTT

will the wheel make during this journey? (a) 3
lakh  (b) 4 lakh (c) 30 million (d) None

of these

o Watch Video Solution

344. Wheels of diameters 7 cm and 14 cm start
rolling simultaneously from X and Y , which
are 1980 cm apart, towards each other in
opposite directions. Both of them make the
same number of revolutions per second. If

both of them meet after 10 seconds, the speed


https://dl.doubtnut.com/l/_MjrJnVkuBmTT
https://dl.doubtnut.com/l/_a5Ty7cH91StA

of the smaller wheel is (a) 22 cm/sec (b) 44

cm/sec (c) 66 cm/sec (d) 132 cm/sec

° Watch Video Solution

345. A toothed wheel of diameter 50 cm is
attached to a smaller wheel of diameter 30 cm.
How many revolutions will the smaller wheel
make when the larger one makes 15
revolutions? (a) 18 (b) 20 (c)

25 (d) 30

° Watch Video Solution



https://dl.doubtnut.com/l/_a5Ty7cH91StA
https://dl.doubtnut.com/l/_JNAXeNXPv3hP

346. A small ring of negligible thickness and
radius 2 cm moves on a bigger rung of radius
10 cm. How many rotations will the small ring
take on the bigger ring to make a complete

round? (a) 5 (b) 6 (c)7 (d) 10

o Watch Video Solution

347. Find the diameter of a wheel that makes

113 revolutions to go 2 km 26 decameters.

42 (b) 62 (0) 12—-m (d) 12—
TR T Fi m


https://dl.doubtnut.com/l/_JNAXeNXPv3hP
https://dl.doubtnut.com/l/_7YmrfXTWZWqO
https://dl.doubtnut.com/l/_EH7fj1Z96Mb6

° Watch Video Solution

348. The circumference of the front wheel of a
cart is 40 ft long and that of the back wheel is
48 ft long. What is the distance travelled by
the cart, when the front wheel has done five
more revolutions than the rear wheel? (a) 850

ft (b) 950 ft  (c)1200ft  (d) 1450 ft

° Watch Video Solution



https://dl.doubtnut.com/l/_EH7fj1Z96Mb6
https://dl.doubtnut.com/l/_XkhM1Ju5Z4jQ

349. The radii of the front wheel and the rear
wheel of a bike are 14 cm and 21 cm
respectively. Rahul puts a red mark on the
point of contact of each of the wheels with the
ground when the bike is stationary. Once the
bike start moving, then after what distance
will the two red marks touch the ground again
simultaneously? (a) 42 cm (b) 84 cm ()

264 cm (d) 294 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_APQyfnp7Mcqx
https://dl.doubtnut.com/l/_U2Ek4zHU5wEj

350. The circumferences of the front and rear
wheels of a bicycle are 3.5 m and 3 m
respectively. If the vehicle is moving at a speed
of 15 m/sec, the shortest time in which both
the wheels will make a whole number of turns
is (a) 1.4 seconds (b) 2.1 seconds (c) 4

seconds (d) 6.4 seconds

o Watch Video Solution

351. The circumference of the back-sided wheel

of a vehicle is 1 m greater than that of front


https://dl.doubtnut.com/l/_U2Ek4zHU5wEj
https://dl.doubtnut.com/l/_9H0uxGRNkxR9

side wheel. To travel 600 m, the front wheel
rotates 30 times more than the back wheel.
The circumference of the front wheel is (a)
2m (b) 4m (c) 5m (d) None of

these

o Watch Video Solution

352. Two boys are running on two different
circular paths with same centre. If their radii

are 5m and 10m, the maximum possible


https://dl.doubtnut.com/l/_9H0uxGRNkxR9
https://dl.doubtnut.com/l/_LADNK0cJ0GQ8

distance between them is (a) 5 m (b) 10

m (c)15m (d)20m

° Watch Video Solution

353. A circular ground whose diameter is 35
metres, has a 1.4 m broad garden around it.
What is the area of the garden in square
meters? (a) 160.16 (b) 176.16 (c) 196.16

(d) Data inadequate (e) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_LADNK0cJ0GQ8
https://dl.doubtnut.com/l/_Ks13nCg9ufwp
https://dl.doubtnut.com/l/_RhR6qSnhjIL1

354. A circular grassy plot of land 42m in
diameter has a path 3.5m wide running round
it on the outside. Find the cost of gravelling

the path at Rs 4 per square metre.

o Watch Video Solution

355. A circle of radius 5 cm is drawn and
another circle of 3 cm radius is cut out of this
circle. What is the radius of a circle which has

the same area as the area of the bigger circle


https://dl.doubtnut.com/l/_RhR6qSnhjIL1
https://dl.doubtnut.com/l/_iO3pzBMbQMao

excluding the cut one? (a) 2 cm (b) 3 cm

(c)4cm (d)4.5cm

° Watch Video Solution

356. The circumference of a circular ground is
88 metres. A strip of land, 3 metres wide,
inside and along the circumference of the
ground is to be levelled. What is the budgeted
expenditure if the levelling costs Rs 7 per
square metre? (a) Rs 1050 (b) Rs 1125 (c)

Rs 1325 (d) Rs 1650

| e |


https://dl.doubtnut.com/l/_iO3pzBMbQMao
https://dl.doubtnut.com/l/_fvWNrZKYYYZ5

& Wwatch Video Solution I

357. The areas of two concentric circles
forming a ring are 154 sq. cm and 616 sq. cm.
The breadth of the ring is (a) 7 cm (b) 14

cm (c)21ecm  (d) 28 cm

° Watch Video Solution

358. A circular road runs around a circular
garden. If the difference between the

circumference of the outer circle and the inner


https://dl.doubtnut.com/l/_fvWNrZKYYYZ5
https://dl.doubtnut.com/l/_cStZCJ4LMt8X
https://dl.doubtnut.com/l/_D5DY7LJ5IwwY

circle is 44 m, the width of the road is (a) 3.5

m (b)dm (c)7m (d) 75 m

° Watch Video Solution

359. A small disc of radius 7 is cut out from a
disc of radius R. The weight of the disc which
now has a hole in it, is reduced to %5 of the
original weight. If R = = r, what is the value

of £? (a) 4 (b) 4.5 (c) 24 (d) 25 (e) None of

these

° Watch Video Solution



https://dl.doubtnut.com/l/_D5DY7LJ5IwwY
https://dl.doubtnut.com/l/_q715wkv23301

360. A circular swimming pool is surrounded
by a concrete wall 4 ft. wide. If the area of the
concrete wall surrounding the pool is % that
of the pool, then the radius of the pool is (a) 8

ft (b) 16 ft (c) 20 ft (d) 30 ft

o Watch Video Solution

361. The ratio of the outer and the inner
perimeters of a circular path is 23 : 22. If the

path is 5 metres wide, the diameter of the


https://dl.doubtnut.com/l/_q715wkv23301
https://dl.doubtnut.com/l/_m2RGAPhs449l
https://dl.doubtnut.com/l/_CSLtYG8tTOUD

inner circle is (a) 55 m (b) 110 m (c) 220

m  (d)230m

° Watch Video Solution

362. If a region bounded by a circle C'is to be
divided into three regions of equal areas by
drawing into circles concentric with C' , then

the ratio of the radii of the two circles must be

(@)1:3(b)1:4/3(c)1:2(d)1:+/2

° Watch Video Solution



https://dl.doubtnut.com/l/_CSLtYG8tTOUD
https://dl.doubtnut.com/l/_BMmo7NzDzM6I
https://dl.doubtnut.com/l/_iZ9VB7BhiN9n

363. The area of a circle is increased by 22 cm?

when its radius is increased by 1 cm. The
original radius of the circle is (a)6 cm (b) 3 cm

(c)4 cm (d) 3.5 cm

o Watch Video Solution

364. The perimeter of a square is equal to
twice the perimeter of a rectangle of length 8
cm and breadth 7 ocm. What is the
circumference of a semi-circle whose diameter

is equal to the side of the square? (rounded


https://dl.doubtnut.com/l/_iZ9VB7BhiN9n
https://dl.doubtnut.com/l/_tfC0tLdYEcBX

off to two decimal places) (a) 23.57 cm  (b)
3857 cm (c) 4246 cm (d) 47.47 cm (e)

None of these

o Watch Video Solution

365. What will be the area of a semi-circle of 14
m diameter? (a) 22 m2 (b) 77 m2 (c) 154

m2 (d) 308 m2 (e) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_tfC0tLdYEcBX
https://dl.doubtnut.com/l/_zLldt9vXmIBW

366. A semi-circular shaped window has
diameter of 63 cm. Its perimeter equals (a) 126

cm (b) 162 cm (c)198 cm  (d) 251 cm

o Watch Video Solution

367. A vertical rod of height 33 metres is bent
to form a semi-circular shape so that the top
touches the ground. The distance between the
top head and the base on the ground is (a)

10.5m (b)12m (c)21m (d) 33 m

| & I


https://dl.doubtnut.com/l/_U2DdaZKK0Z1D
https://dl.doubtnut.com/l/_6lTsK3T0vwaD

| ¥ Watch Video Solution |

368. What will be the area of a semi-circle
whose perimeter is 36 cm? (a) 154 cm2 (b)
168 cm2 (c) 308 cm2 (d) Data

inadequate (e) None of these

o Watch Video Solution

369. If the area of a semi-circular plot is 11088
m2, then its perimeter is (a) 264 m (b) 348

m (c)432m (d)452m


https://dl.doubtnut.com/l/_6lTsK3T0vwaD
https://dl.doubtnut.com/l/_TM1AjJdcN5RX
https://dl.doubtnut.com/l/_vj0M4AUA5AlM

° Watch Video Solution

370. If a wire is bent into the shape of a
square, then the area of the square is 81 sq.
cm. When the wire is bent into a semi-circular
shape, then the area of the semi-circle will be
(@a)22cm2  (b)44cm2 (c)77cm2 (d) 154

cm?2

o Watch Video Solution



https://dl.doubtnut.com/l/_vj0M4AUA5AlM
https://dl.doubtnut.com/l/_ZWoIOzdYzWiR

371.If M N = x, then what is the area of the
2

, 5 T
shaded region? (FIGURE) (a) ™ x“ (b) 5 (c)
T 22 T 22
2 (d) 4

o Watch Video Solution

372.In the given figure, ABC'is a right-angled
triangle with B as the right angle. Three semi-
circles are drawn with AB, BC and AC as
diameters. What is the area of the shaded

portion if the area of the triangle ABC' is 12


https://dl.doubtnut.com/l/_ZSryTpx83ord
https://dl.doubtnut.com/l/_G12PBVW5Px75

square units? (FIGURE) (a) 6 square units (b) 12
square units (c) 24 square units (d) Cannot be

determined as the data is insufficient

° Watch Video Solution

373. If in the given figure OP = OQ = 14 cm
and OP, P() and OQ are all joined by semi-
circles, then the perimeter of the shaded area
is equal to (FIGURE) (a) 88 cm (b) 176 cm (c)

264 cm (d) 352 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_G12PBVW5Px75
https://dl.doubtnut.com/l/_OAIfObymfCNZ

374.In given diagram, ABCD is a square and
semi-circular regions have been added to it by
drawing two semi-circles with AB and CD as
diameters. If the total area of the three
regions is 350 sq. cm, then the length of the
side of the square is equal to (FIGURE)

57 cm (b) 7em (c) 13 em (d) 14 em

o Watch Video Solution



https://dl.doubtnut.com/l/_OAIfObymfCNZ
https://dl.doubtnut.com/l/_Lh7BMR8GMdb0

375. If r and R and the respective radii of the
smaller and the bigger semi-circles then the
area of the shaded portion in the given figure
is: (FIGURE) 7r? squnits (b)

2

wR? — 7r? squnits (c) TR? 4+ 7r? squnits (d)

wR? squnits

o Watch Video Solution

376. Two circular wheels of the same radius r

have their central hubs at a distance of a from


https://dl.doubtnut.com/l/_kyP5svGq5n9E
https://dl.doubtnut.com/l/_j5wxyejkeCb4

one another. The minimum length of a fan belt

which will pass around both the wheels is

(FIGURE) 2(a + 77) (b) a + %r (c) 2a + )
a—+mr
(d) 5

° Watch Video Solution

377. The area of the shaded region in the

adjoining figure is (FIGURE) a*(m — 1)squnits

(b) a’ (% — 1) squnits (c)
2 o2

a .
- (m — 1)squnits (d) —

(5 —1)sainit
5 3 squnits

o Watch Video Solution



https://dl.doubtnut.com/l/_j5wxyejkeCb4
https://dl.doubtnut.com/l/_pIN1J5Fnmc0y

378. An athletic track 14 m wide consists of two
straight sections 120 m long joining and
semicircular ends inner diameter 35 cm . find

area

° Watch Video Solution

379. A square of area 40 sq.cm is inscribed in a
circle as shown in the figure. The area (in sq.
cm) of the semi-circle is 20 w (b) 25 7 (c) 30 7

(d)40 =


https://dl.doubtnut.com/l/_pIN1J5Fnmc0y
https://dl.doubtnut.com/l/_UPRJ7zCYmDAK
https://dl.doubtnut.com/l/_9vvqzFtemKea

° Watch Video Solution

380. A square is inscribed in a circle and
another in a semi-circle of same radius. The
ratio of the area of the first square to the area
of the second squareis(a)2:5 (b) 5:2

(c)4:5 (d)5:4

° Watch Video Solution



https://dl.doubtnut.com/l/_9vvqzFtemKea
https://dl.doubtnut.com/l/_zoYDV8KYWuRZ

381. Semi-circular lawns are attached to the
edges of a rectangular field measuring
42m x 35m . The area of the total field is (a)

1358 m2 (b) 3818.5 m2 (c) 5813 m2 (d) 8318 m2

o Watch Video Solution

382. The area of a sector of a circle of radius 5
cm, formed by an arc of length 3.5 cm, is (a) 7.5
cm?2 (b) 7.75 cm2 (c) 8.5 cm2 (d) 8.75

cm?2

| & I


https://dl.doubtnut.com/l/_dMg3a7i7IvYv
https://dl.doubtnut.com/l/_tze90ShlmwtH

| ¥ Watch Video Solution |

383.1n a circle of radius 7 cm, an arc subtends
an angle of 1080 at the centre. The area of the
sector is (a) 43.2 cm2 (b) 44.2 cm2 (c) 45.2 cm?2

(d) 46.2 cm2

o Watch Video Solution

384. A sector of 560 has an area of 17.6 cm2.
Then its radius will be (a) 1.5 cm (b) 3 cm (c) 4.2

cm (d) 6 cm


https://dl.doubtnut.com/l/_tze90ShlmwtH
https://dl.doubtnut.com/l/_r3NREDYrDzDj
https://dl.doubtnut.com/l/_LDl33hjUeNL2

° Watch Video Solution

385. There are three circles each of radius
VT em . A triangle is formed by joining their
centres. The angles at the centre made by the
triangle are shown in the figure. The area of
the shaded portion is (FIGURE) é cm? (b)
11 5 22

—— em? () == em? (d) 11 em?

7 7

o Watch Video Solution



https://dl.doubtnut.com/l/_LDl33hjUeNL2
https://dl.doubtnut.com/l/_6F9jAhkJzuJh

386. The minute hand of a clock is 7 cm long.
Find the area of the sector made by the
minute hand between 7 a.m. and 7.05 a.m. (a)
11.5 cm?2 (b) 12.8 cm2 (c) 154 cm2 (d)

None of these

o Watch Video Solution

387. A horse is tied at the corner of a
rectangular field whose length is 20 m and

width is 16 m, with a rope whose length is 14


https://dl.doubtnut.com/l/_yQ4upf2kgoyy
https://dl.doubtnut.com/l/_c7WIHLVGikbr

m. Find the area which the horse can graze: (a)
144 sq.m (b) 154 sgq.m (c) 156 sq.m (d)

164 sq. m

o Watch Video Solution

1
388. Area of the segment of a circleis (a) = [ r

2
mTro of m0 1
— (o) r — —sin @ | (d) None
180

b
(®) 360° 2

of these

o Watch Video Solution



https://dl.doubtnut.com/l/_c7WIHLVGikbr
https://dl.doubtnut.com/l/_YsYaA7sL21Rj

389. If in a circle of radius 21 cm, an arc
subtends an angle of 560 at the centre, the
length of the arc is (a) 15.53 cm (b) 16.53 cm (c)

18.53 cm (d) 20.53 cm

o Watch Video Solution

390. If the circumference of a circle is 100
units, then what will be the length of the arc

described by an angle of 20 degrees? (a) 5.55


https://dl.doubtnut.com/l/_D0EYcSXZGTH0
https://dl.doubtnut.com/l/_A1qh14Q28xFp

units (b) 4.86 units (c) 5.85 units (d) None of

these

° Watch Video Solution

391. The area of the greatest circle which can

be inscribed in a square whose perimeter is

2
120 cm, is (a) ﬁx (Z> cm?  (b)

7 2
22 9\* 22 15\°
7><§cmc7><70md)
22
7><(15)2cm2

o Watch Video Solution



https://dl.doubtnut.com/l/_A1qh14Q28xFp
https://dl.doubtnut.com/l/_6lwR5RyKWEyK

392. The area of the largest circle, that can be
drawn inside a rectangle with sides 18 cm by
14 cm, is (a) 49 cm?2 (b) 154 cm?2 (c) 378

cm2  (d) 1078 cm?2

o Watch Video Solution

393. The sides of a rectangle are 8 cm and 6
cm. The corners of the rectangle lie on a circle.

Find the area of the circle without the


https://dl.doubtnut.com/l/_d4v3EamUpCNq
https://dl.doubtnut.com/l/_eZoslB66w5ND

rectangle.(a) 30.5cm2  (b)39cm2 (c) 424

cm2  (d) 65.3 cm?2

° Watch Video Solution

394. The area of the rectangle circumscribed
by a circle is 32 cm2 and the length of one side
of the rectangle is 8 cm. The length of the
diameter of the circle is (a) 16 cm (b) 12 cm (c)

5v/2 cm (d) 44/5 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_eZoslB66w5ND
https://dl.doubtnut.com/l/_5QS8cLVmXkJv
https://dl.doubtnut.com/l/_pHabWbAxcblg

395. The area of a circle is 220 sq. cm. The area
of a square inscribed in this circle will be (a) 49

cm2  (b) 70cm2  (c)140cm2 (d) 150 cm2

° Watch Video Solution

396. A square is inscribed in a circle whose
radius is 4 cm. The area of the portion
between the circle and the square is:
(8 — 16) (b) (87 — 32) (c) (167 — 16) (d)

(167 — 32)

l ° Watch Video Solution


https://dl.doubtnut.com/l/_pHabWbAxcblg
https://dl.doubtnut.com/l/_F1cupJL7Q5iQ

397. The circumference of a circle is 100 cm.

The side of a square inscribed in the circle is

100 504/2
50\/5 em? (b) Tcm2 (c) v

1004/2

s

em? (d)

cm2

° Watch Video Solution

398. A circle is inscribed in a square of side 54
cms and another circle circumscribes the same

square. Then the ratio of circumferences of


https://dl.doubtnut.com/l/_F1cupJL7Q5iQ
https://dl.doubtnut.com/l/_V1ojuMMlfHeE
https://dl.doubtnut.com/l/_ZbtFNcdAqySH

the bigger circle to the smaller circle is 1 : /2

(b) v/2 :1(c) 4/3 : 1(d) None of these

° Watch Video Solution

399. A circle is circumscribed around a square

as shown in the figure. The area of one of the

4
four shaded portions is equal to 2 The

radius of the circle is (FIGURE) /2 (b) 2

. (c)
— \C
V2
(d)3

o Watch Video Solution



https://dl.doubtnut.com/l/_ZbtFNcdAqySH
https://dl.doubtnut.com/l/_GRO1L5Md8vY5
https://dl.doubtnut.com/l/_2R4WoLB4RB9q

400. The ratio of the areas of the incircle and

the circumcircle of a square is (a) 1 : 2 (b)

V2:1()1:4/2(d)2:1

o Watch Video Solution

401. A square circumscribes a circle and
another square is inscribed in this circle with
one vertex at the point of contact. The ratio of
the areas of the circumscribed and the
inscribed squares is (a) 1 (b) 2: 1 (c)

3 (d) 4


https://dl.doubtnut.com/l/_2R4WoLB4RB9q
https://dl.doubtnut.com/l/_8dfvtjDCiMMd

° Watch Video Solution

402. What is the area of the shaded region?
(FIGURE) 32 — 4 7 squnits (b)
32 — 8 m squnits (c) 16 — 4 7 squnits (d)

16 — 8 m squnits

o Watch Video Solution

403. Four equal sized maximum circular plates

are cut off from a square paper sheet of area


https://dl.doubtnut.com/l/_8dfvtjDCiMMd
https://dl.doubtnut.com/l/_HqEs0cNVXK1I
https://dl.doubtnut.com/l/_88zzedcSR61O

784 cm2. The circumference of each plate is (a)

22 cm (b)44cm (c)66cm (d) 88 cm

° Watch Video Solution

404.There are 4 semi-circular gardens on each
side of a square-shaped pond with each side
21 m. The cost of fencing the entire plot at the
rate of Rs 12.50 per metre is (a) Rs 1560 (b)

Rs 1650 (c) Rs 3120 (d) Rs 3300

° Watch Video Solution



https://dl.doubtnut.com/l/_88zzedcSR61O
https://dl.doubtnut.com/l/_wGLhYY6S5YCQ
https://dl.doubtnut.com/l/_Fj5cU5Ivtlpx

405. The circumradius of an equilateral
triangle is 8 cm. The inradius of the triangle (a)

325cm  (b)4cm (¢)3.5cm (d) 4.25cm

° Watch Video Solution

406. The ratio of the areas of the incircle and
circumcircle of an equilateral triangle is (a) 1:

2 (b)1:3 (c)1:4 (d)1:9

° Watch Video Solution



https://dl.doubtnut.com/l/_Fj5cU5Ivtlpx
https://dl.doubtnut.com/l/_wPML6SIDzFgN
https://dl.doubtnut.com/l/_o5dhEyk7n5fr

407. The radius of the circumcircle of an

. . . 42
equilateral triangle of side 12 cm is

cm

43

(b) 4/2 em (c) 3

em (d) 44/3 em

o Watch Video Solution

408. The area of the incircle of an equilateral
triangle of side 42 cm is 22,/3 em?  (b)

231 em? (c) 462 cm? (d) 924 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_o5dhEyk7n5fr
https://dl.doubtnut.com/l/_dWlERBxC6KuB
https://dl.doubtnut.com/l/_CrGUPFDWVht0

409. The area of a circle inscribed in an
equilateral triangle is 154cm?. Find the

perimeter of the triangle.

° Watch Video Solution

410. A circle is inscribed in a square. An
equilateral triangle of side 4,/3 cm is inscribed
in that circle. The length of the diagonal of the
square is 4\/§cm (b) 8cm (c) 8\/§cm (d)

16 em

° Watch Video Solution



https://dl.doubtnut.com/l/_CrGUPFDWVht0
https://dl.doubtnut.com/l/_z40yrajuGEsX

411. In the given figure, ABC'is an equilateral
triangle which is inscribed inside a circle and
whose radius is r . Which of the following is

the area of the triangle?

Y IS4

(r + DE)%(r — DE) (b)
(r — DE)%(r + DE)? (©)

(r — DE)*(r + DE)* (d)

N | eo

(r — DE)%(r + DE)

° Watch Video Solution



https://dl.doubtnut.com/l/_z40yrajuGEsX
https://dl.doubtnut.com/l/_XVPMWz1l92JS

412. Three boys are standing on a circular
boundary of a fountain. They are at equal
distance from each other. If the radius of the

boundary is 5 m, the shortest distance

5v/3

between any two boys is (a) m (b) 5/3m

15+/3 107
5 m (d) Tm

(c)

° Watch Video Solution

413. What is the area of an equilateral triangle

inscribed in a vcircle of unit radius?


https://dl.doubtnut.com/l/_1trGinclWtSK
https://dl.doubtnut.com/l/_DbHSwhEeqWWA

3v/3
2

31/3 squnits (b) squnits (c)

3vV3 . 45 (d) 33
4 squnits 16

squnits

o Watch Video Solution

414. The sides of a triangle are 6 cm, 11 cm and

15 cm. The radius of its incircle is 3\/5 cm (b)

4,/2 5v/2

cm (c)

3 1 cm (d) 6\/5 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_DbHSwhEeqWWA
https://dl.doubtnut.com/l/_oo8eUav3mimo

415. The product of the lengths of three sides
of a triangle is 196 and the radius of its
circumscribe is 2.5 cm. The area of the triangle
is(a) 19.6 cm2 (b) 39.2cm2 (c) 61.25 cm2

(d) 122.5 cm?2

o Watch Video Solution

416. A triangle with sides 13 cm, 14 cm and 15

cm is inscribed in a circle. The radius of the


https://dl.doubtnut.com/l/_0KuoUHpSmDez
https://dl.doubtnut.com/l/_SHVkeiLCLi0r

circle is (a) 2 cm (b)3cm (c)4 cm (d)

8125 cm

° Watch Video Solution

417. The perimeter of a triangle is 30 cm and
the circumference of its incircle is 88 cm. The
area of the triangle is (a) 70 cm2 (b) 140

cm2  (c) 210cm2  (d) 420 cm?2

o Watch Video Solution



https://dl.doubtnut.com/l/_SHVkeiLCLi0r
https://dl.doubtnut.com/l/_xE0eEV39j54T

418. If in a triangle, the area is numerically
equal to the perimeter, then the radius of the
inscribed circle of the triangle is (a) 1 (b)

1.5 (c) 2 (d) 3

o Watch Video Solution

419. An equilateral triangle, a square and a
circle have equal perimeters. If T' denotes the
area of the triangle, §', the area of the square

and C , the area of the circle, then 'S

| & I


https://dl.doubtnut.com/l/_K33j2NNwuFR4
https://dl.doubtnut.com/l/_J8FiY5o9XEdq

| ¥ Watch Video Solution |

420. A circle, a square and an equilateral
triangle have the same area. The correct
increasing order of the perimeters will be (a)
triangle, square, circle (b) triangle, circle,
square (c) circle, triangle, square (d) circle,

square, triangle

o Watch Video Solution



https://dl.doubtnut.com/l/_J8FiY5o9XEdq
https://dl.doubtnut.com/l/_RxFw9sWTSlmJ

421. What is the area of the largest triangle
that can be inscribed in a semicircle of radius r

unit.

o Watch Video Solution

422. ABC'is a right-angled triangle with right
angle at B . If the semi-circle on AB with AB
as diameter encloses an area of 81 sq. cm and
the semi-circle on BC with BC as diameter

encloses an area of 36 sq. cm, then the area of


https://dl.doubtnut.com/l/_IQWWKSUkxgPI
https://dl.doubtnut.com/l/_RywKWHfBgw0f

the semi-circle on AC with AC as diameter
will be (a) 117 cm2 (b) 121 cm2 (c) 217 cm2 (d)

221 cm2

o Watch Video Solution

423. If the radius of a circle is increased by
75%, then its circumference will increase by (a)

25%  (b) 50% (c) 75% (d) 100%

o Watch Video Solution



https://dl.doubtnut.com/l/_RywKWHfBgw0f
https://dl.doubtnut.com/l/_ao9iYKyojjDZ

424. When the circumference of a toy balloon

is increased from 20 cm to 25 cm, its radius is

d) 0
27

s

increased by (a) =

5}
(b) —(c) 5(
7'('

o Watch Video Solution

425. A can go round a circular path 8 times in
40 minutes. If the diameter of the circle is
increased to 10 times the original diameter,
then the time required by A to go round the

new path once, travelling at the same speed as


https://dl.doubtnut.com/l/_ANqzWeM8icAf
https://dl.doubtnut.com/l/_WKGl5Ev4Gnw4

before, is (a) 20 min. (b) 25 min. (c) 50 min. (d)

100 min.

° Watch Video Solution

426. If the radius of a circle is increased by 6%,
then the area is increased by (a) 6% (b)

12% () 1236% (d) 16.64%

° Watch Video Solution



https://dl.doubtnut.com/l/_WKGl5Ev4Gnw4
https://dl.doubtnut.com/l/_oqXALtJXWxBl

427. If the radius of a circle is increased by
200%, then its area will increase by (a)

200% (b) 400%  (c) 800% (d) 900%

o Watch Video Solution

428. If the radius of a circle is diminished by
10%, then its area is diminished by (a) 10%

(b)19%  (c)20%  (d) 36%

o Watch Video Solution



https://dl.doubtnut.com/l/_rff9pQXfTQB1
https://dl.doubtnut.com/l/_KCwzxMlSS9wd
https://dl.doubtnut.com/l/_muMVmHAhxhsO

429. If the radius of a circle is doubled, its area
is increased by (a) 100% (b) 200% (c)

300% (d) 400%

o Watch Video Solution

430. If the radius of a circle is increased to 3
times, then how many times will its
circumference be increased? — times (b) 2

3

times (c) 3 times (d) 9 times

° Watch Video Solution



https://dl.doubtnut.com/l/_muMVmHAhxhsO
https://dl.doubtnut.com/l/_jg1zRQMFIsyz

431. If the circumference of a circle increases
form 47 to 8m , what change occurs in its
area? (a) It is halved. (b) It doubles. (c) It

triples. (d) It quadruples.

o Watch Video Solution

432. If the circumference of a circle is
increased by 20%, what will be the effect on

the circle? (a) 40% increase (b) 44%


https://dl.doubtnut.com/l/_sTIPOhvmXUBd
https://dl.doubtnut.com/l/_cp7mnNwoCxuu

increase (c) 48% increase (d) Cannot be

determined (e) None of these

° Watch Video Solution

433. If the circumference of a circle is
decreased by 50% then the percentage of
decrease in its area is (a) 25 (b) 50 (c)

60 (d) 75

o Watch Video Solution



https://dl.doubtnut.com/l/_cp7mnNwoCxuu
https://dl.doubtnut.com/l/_Ez3VvOGQ0eh7

434. Three equal circles are described with

vertices of the triangles as centres. If the

radius of each circle is r , the sum of areas of

the portions of the circles intercepted in a
3

triangle is 22 (b) Emﬂ (c) r? (d) Ewrz

o Watch Video Solution

435. Three circles each of radius 3.5 cm are

drawn in such a way that each of them


https://dl.doubtnut.com/l/_eO59cBsprThi
https://dl.doubtnut.com/l/_KAruP0xQkp4A

touches the other two. Find the area enclosed

between these three circles (shaded region).

° Watch Video Solution

436. Four circles each of radius ’'a’ units

touch one another. The area enclosed between

. o a’ 5 6a>
them in square units is (a) 2 (b) 3a“ (c) "
41a?
d
(d) -

° Watch Video Solution



https://dl.doubtnut.com/l/_KAruP0xQkp4A
https://dl.doubtnut.com/l/_vL3kTDS6Ftvs

437. Four horses are tethered at four corners
of a square plot of side 63 metres so that they
just cannot reach one another. The area left
ungrazed is (a) 6755 m2 (b) 780.6 m2  (c)

7858 m2 (d) 850.5 m2

o Watch Video Solution

438. In the adjoining figure, if the radius of

each of the four outer circles is r , what is the


https://dl.doubtnut.com/l/_rvg2vEWR0obw
https://dl.doubtnut.com/l/_sNIIkaKXPXIW

radius of the inner circle? (FIGURE) (a)

2 1
b) — 2 —1)r(d) /2
ﬁﬂr()ﬁr(c)(f )7 (d) /27

o Watch Video Solution

439. Four equal circles are described at the
four corners of a square so that each touches
two of the others. The area enclosed by the
circumferences of the circles is 137 sg. cm.

Find the radius of the circle.(a) 2.5 cm (b) 4 cm

(c)6cm (d) 7.5 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_sNIIkaKXPXIW
https://dl.doubtnut.com/l/_DfQ4xY8Tj3Qo

440. In order to reach his office on time, Mr.
Roy goes through the middle passage of a
round fort which he takes 14 minutes to pass
through. However, on a certain day, due to
repairs, the straight road being blocked, he
had to take the roundabout way as a result of
which he reached his office late. How late was

he? (a) 6 min (b) 8 min (c) 12 min (d) 7% min

o Watch Video Solution



https://dl.doubtnut.com/l/_DfQ4xY8Tj3Qo
https://dl.doubtnut.com/l/_Lk9ZLJk9qO9z

441. A kite-shaped quadrilateral of the largest
possible area is cut from a circular sheet of
paper. If the lengths of the sides of the kite are
in the ratio 3: 3: 4 : 4, what percentage of the
circular sheet is wasted? (a) 34% (b)

39% () 42% (d) 47%

o Watch Video Solution

442. A cow is tethered at point A by a rope.

Neither the rope nor the cow is allowed to


https://dl.doubtnut.com/l/_5Uhz4nchHzgq
https://dl.doubtnut.com/l/_iQu54oThLWkg

enter the triangle ABC. /ZBAC = 30°,

133
AB = AC =10m. @ " sqgm  (b)
1
121 w sqm (c) 132 w sq m (d) 7:?% sqgm

° Watch Video Solution

443. A cow is tethered at point A by a rope.
Neither the rope nor the cow is allowed to

enter the triangle ABC. /ZBAC = 30°,

133 =

6
176 =

3

AB = AC = 10m. (a) sgm (b)

121 w sqm (c) 132 w sq m (d) sqgm

° Watch Video Solution



https://dl.doubtnut.com/l/_iQu54oThLWkg
https://dl.doubtnut.com/l/_fVCiI7FwB0nW

444, Two identical circles intersect so that
their centers, and the points, at which they
intersect, form a square ofSide 1 cm. The area
in sq cm of the portion that is common to the

two circles is

o Watch Video Solution

445. A one-rupee coin is placed on a plain
paper. How many coins of the same size can be

placed round it so that each one touches the


https://dl.doubtnut.com/l/_fVCiI7FwB0nW
https://dl.doubtnut.com/l/_RqvC5LiXZVd1
https://dl.doubtnut.com/l/_YKhacDDZY0pn

centre and adjacent coins? (a) 3 (b) 4

(06 (d)7

° Watch Video Solution

446. A skating champion moves along the
circumference of a circle of radius 28 m in 44
sec. How many seconds will it take her to move
along the perimeter of a hexagon of side 48

m? (a)48 (b)68 (c)72 (d)84 (d)90O

° Watch Video Solution



https://dl.doubtnut.com/l/_YKhacDDZY0pn
https://dl.doubtnut.com/l/_U8Oqz1qsaEhJ
https://dl.doubtnut.com/l/_QXdHVWfKdYoC

447. Each side of a regular hexagon is 1 cm.

The area of the hexagon is 3\/§cm2 (b)

33 I
4

4./3 cm? (c)

o Watch Video Solution

448. The difference between the areas of the
circumcircle and the incircle of a regular
polygon of n sides with each side of length 2a

Jis wa? (b) (2n + 1)7ra2 (c) mna? (d) 2rna?

o Watch Video Solution



https://dl.doubtnut.com/l/_QXdHVWfKdYoC
https://dl.doubtnut.com/l/_RbtQeS79QcAo

449, If a circle touching all the n sides of a
polygon of perimeter 2p has radius r , then
the area of the poly-gon is (p — n)r (b) pr (c)

(2p — n)r(d) (p+ n)r

o Watch Video Solution

450. Two equal circles are drawn in square in
such a way that a side of the square forms
diameter of each circle. If the remaining area

of the square is 42 cm2. How much will the


https://dl.doubtnut.com/l/_ZOCH82gjihBa
https://dl.doubtnut.com/l/_P2yCamjSHlCT

diameter of the circle measures? (a) 3.5 cm

(b)4cm (c)14cm (d)7Z.5cm

° Watch Video Solution

451. If radius of a circle is 3cm , what is the

3
area of the circle in sq. cm 67 (b) 97 (c) %T (d)

o2

° Watch Video Solution



https://dl.doubtnut.com/l/_P2yCamjSHlCT
https://dl.doubtnut.com/l/_QB2dPu1gaaeW

452. A plate on square base made of brass is
of length x cm and width 1T mm. The plate
weighs 4725g If 1em® of brass weighs 8.4

gram, then the value of x:

o Watch Video Solution

453. Area of a rectangle is 150 metre sq. When
the breadth of the same rectangle is increased
by 2 meter and the length decreased by 5

metre the area of the rectangle decreases by


https://dl.doubtnut.com/l/_6jGIVQfMq16M
https://dl.doubtnut.com/l/_Xtcf8aZOeTd9

30 metre square. What is the perimeter of the
square whose side are equal to the length of
the rectangle? (a) 76 m (b) 72 m (c) 120

m (d) 60 m

° Watch Video Solution

454, The area of a circle whose radius is the
diagonal of a square whose area is 4 sq. units
is 167 squnits (b) 4w squnits (c) 6w squnits

(d) 87 squnits

° Watch Video Solution



https://dl.doubtnut.com/l/_Xtcf8aZOeTd9
https://dl.doubtnut.com/l/_iim5xtavuOiZ

455, The ratio of circumference and diameter

of a circle is 22 : 7. If the circumference be

4 1
17m . then the radius of the circle is gm (b)

Em (c) Zm (d)1Tm

° Watch Video Solution

456. A rectangular carpet has area 120m? and
perimeter 46 metres. The length of its

diagonals is 15m (b) 16m (c) 17m (d) 20m

l ° Watch Video Solution


https://dl.doubtnut.com/l/_iim5xtavuOiZ
https://dl.doubtnut.com/l/_JUgejnssy9cC
https://dl.doubtnut.com/l/_Gap34dfv8wr6

457. The total surface area of a right circular
cylinder with radius of the base 7 cm and
height 20 cm is (a) 900 cm2 (b) 140 cm?2

(c) 1000 cm2 (d) 1188 cm?2

° Watch Video Solution

458. The height of a triangle is equal to the
perimeter of a square whose diagonal is 8,/2

metre and the base of the same triangle is


https://dl.doubtnut.com/l/_Gap34dfv8wr6
https://dl.doubtnut.com/l/_q5UHcSGseFN9
https://dl.doubtnut.com/l/_aRL1KIx4iPr3

equal to the side of a square whose area is
729sq. metre. What is the area of the triangle?

(in sq. metre) (a) 378 (b) 206 (c) 472 (d) 432

o Watch Video Solution

459. A boundary wall around a rectangular
plot is constructed at a total cost of Rs 46000
at the rate of Rs 200 per metre. What is the
area of the plot if the respective ratio between

the breadth and the length of the plot is 10 :


https://dl.doubtnut.com/l/_aRL1KIx4iPr3
https://dl.doubtnut.com/l/_q3aIMoCOEQWm

13?7 (in sg. metre) (a) 3750 (b) 3250 (c)

3000 (d) 3900

° Watch Video Solution

460. Four circles having equal radii are drawn
with centres at the four corners of a square.
Each circle touches the other two adjacent
circles. If the remaining area of the square is
168 cm2, what is the size of the radius of the
circle? (in centimeters) (a) 14 (b) 1.4

(c) 35 (d) 21

| |


https://dl.doubtnut.com/l/_q3aIMoCOEQWm
https://dl.doubtnut.com/l/_M1G9vyNWGy8b

& Watch Video Solution I

461. A courtyard is 25m long and 16m broad is
to be paved with bricks of dimensions 20cm
and 10cm. What is the total number of bricks
required? (a) 16000 (b) 18000 (c) 20000

(d) 22000

° Watch Video Solution

462. The diameter of a circle is equal to the

perimeter of a square whose area is 3136 cm2.


https://dl.doubtnut.com/l/_M1G9vyNWGy8b
https://dl.doubtnut.com/l/_BK2t8NOYC6d1
https://dl.doubtnut.com/l/_4JcY6Ynm4QAg

What is the circumference of the circle? (a) 352
cm (b) 704 cm (c) 39424 cm (d) 1024

cm

o Watch Video Solution

463. The base of triangle is 15 cm and height is
12 cm. The height of another triangle of
double the area having base 20cm is (a) 22

cm (b) 20 cm (c)18cm (d) 10 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_4JcY6Ynm4QAg
https://dl.doubtnut.com/l/_Oy0VcDzSRFD1
https://dl.doubtnut.com/l/_NUwWWpw7d85Z

464. The base of an isosceles is 14 cm and its
perimeter is 36 cm. Find its area. 421/2 sgem.

(b) 42 sqem . (c) 84 sqgem (d) 48 sgem

° Watch Video Solution

465. What would be the area of a rectangle
whose area is equal to the area of a circle of
radius 7 cm? (a) 77 cm2 (b) 154 cm?2 (c)

184 cm2  (d) 180 cm2

o Watch Video Solution



https://dl.doubtnut.com/l/_NUwWWpw7d85Z
https://dl.doubtnut.com/l/_BwUuTBsx9LZe

466. If the total surface area of a cube is 864
square cm, find the volume of the cube: (a)
1728 cm3  (b) 1624 cmm3  (c) 144 cm3  (d)

1684 cm3

o Watch Video Solution

467. The circumference of a circle is 10% more
than the perimeter of a square. If the
difference between the area of the circle and

that of the square is 216 cm2, how much does


https://dl.doubtnut.com/l/_4GrnAT1cNAen
https://dl.doubtnut.com/l/_67AylE3XUo0J

the diagonal of the square measure? (in cm)

14+/2 (b) 14 (c) 20 (d) 20+/2

° Watch Video Solution

468. A circular grassy plot of land 42m in
diameter has a path 3.5m wide running round
it on the outside. Find the cost of gravelling

the path at Rs 4 per square metre.

o Watch Video Solution



https://dl.doubtnut.com/l/_67AylE3XUo0J
https://dl.doubtnut.com/l/_QjRKcuDHsQYc

469. Direction: In the question below there is a
question-statement and two statements
numbered | and Il. You have to decide whether
the data given in the statements are sufficient
to answer the questions. Read with the
statements and given answer: (A) If the data in
statement | alone are sufficient to answer the
question, while the data in statement Il alone
are not sufficient to answer the question. (B) If
the data in statement Il alone are sufficient to
answer the question, while the data in

statement | alone are not sufficient to answer


https://dl.doubtnut.com/l/_Cg4XTnIDI8zB

the question. (C) If the data either in
Statement | alone or statement Il alone are
sufficient to answer the question. (D) If the
data given in both Statements | and Il
together are not sufficient to answer the
question. (E) If the data in both Statements |
and |l together are necessary to answer the
question. What is the area of the circle? I
Perimeter of the circle is 88 cm Il. Diameter of

the circle is 28 cm

O Watch Video Solution



https://dl.doubtnut.com/l/_Cg4XTnIDI8zB
https://dl.doubtnut.com/l/_fAFF8Dvnk4cn

470. The area of a rhombus with side 13 cm
and one diagonal 10 cm will be (a) 140 cm2

(b)130cm2 (c)120cm2 (d) 110 cm?2

° Watch Video Solution

471. A piece of wire when bent to form a circle
will have a radius of 84cm. If the wire is bent
to form a square, the length of a side of the
square is (a) 216 cm (b) 133 cm (c) 132

cm (d) 168 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_fAFF8Dvnk4cn
https://dl.doubtnut.com/l/_7THWxPinZo0p

472. A hall 50m long and 45m broad is to be
paved with square tiles. Find the largest tile as
well as its number in the given options so that
the tiles exactly fit in the hall. (a) 36 sq. m and
80 tiles  (b) 16 sq. m and 80 tiles (c) 25 sq. m

and 90 tiles (d) 36 sq. m and 90 tiles

o Watch Video Solution

473. The perimeters of a reqular hexagon and

a square are equal. The ratio of the area of the


https://dl.doubtnut.com/l/_7THWxPinZo0p
https://dl.doubtnut.com/l/_Q0cS2LlL9XdR
https://dl.doubtnut.com/l/_zFMNXtdwXtwh

square to the area of the hexagon is:

o Watch Video Solution



https://dl.doubtnut.com/l/_zFMNXtdwXtwh

